Manual
Gas patio heater G21
Inferno

N

ENJDERCZISKIHURPL






Thank you for purchasing our product.
Before using this unit, please read this manual.

Parts list
o
'
e I
(5}
K/
-‘\
Ny, 8
1. Wing nut 6. Burner assembly
2. Reflector 7. Gas cylinder cover
3. Reflector spacer 8. Base
4. Protective cover 9. Wheel assembly
5. Top plate



Warning

1.

O3 © ©®No o

12.
13.

14.

If you smell gas:
Shut off gas supply to the appliance.

If you still smell gas, immediately call your gas supplier
or the fire department.

Do not store gasoline or any other flammable vapors/
liquids near this appliance.

Designed for use outdoors or in amply ventilated areas
(minimum of 25 % of the surface area open — one open wall).

Improper installation, adjustment, alternation, service or maintenance can cause injury or
property damage. Read the manual thoroughly before installing or using this appliance.

This appliance must be installed and stored in accordance with the regulations in force.
Do not cover the ventilation holes of the cylinder housing.

Do not move the appliance when in use.

Shut off the valve of the gas cylinder or the regulator before moving the appliance.

The gas tube must be changed within the prescribed intervals.

. Use only the type of gas and the type of cylinder specified by the manufacturer.
. The gas tank used with this patio heater must meet the following requirements: 31,8 cm

diameter, 58 cm height with 15 kg capacity at maximum.
In case of strong wind blowing, attention must be taken against tilting of the appliance.

The injector in this appliance is not removable and is assembled by manufacturer only. It is
forbidden to convert from one gas pressure to another.

Do not connect the gas cylinder directly to the appliance without the regulator. Use only the
gas type and gas cylinder type specified in this manual.

Use 30mbar regulator for butane/propane under the category I13B/P(30).
Use 30mbar regulator for butane under the category 13+(28-30/37).
Use 30mbar regulator for butane under the category 13+(28-30/37).
Use 50mbar regulator for butane/propane under the category I3B/P(50).

Safety instructions Ceiling

1.

Do not use the patio heater for indoors, as it may cause
personal injury or property damage. 28"

18"
45cm

This outdoor heater is not intended to be installed on 70cm
recreational vehicles and/or boats.

Improper installation, adjustment, alteration can cause
personal injury or property damage.

Do not attempt to alter the unit in any manner.

Never replace or substitute the regulator with any regulator
other than the factory-suggested replacement.

Do not store or use gasoline or other flammable vapors or
liquids in the heater unit. @ o
The whole gas system, hose, regulator, pilot or burner should
be inspected for leaks or damage before use, and at least
annually by a qualified service person.

All leak tests should be done with a soap solution. Never use TERY
an open flame to check for leaks. Do not use the heater until

Wall
O




10.
11.
12.
13.
14.

15.
16.
17.

18.

19.

20.

21.
22.

23.
24.
25.

26.
27.
28.
29.

30.

all connections have been leak tested.

Turn off the gas valve immediately if smell of gas is detected. Turn Cylinder Valve OFF. If leak
is at Hose/Regulator connection: tighten connection and perform another leak test. If bubbles
continue appearing should be returned to hose’s place of purchase. If leak is at Regulator/
Cylinder Valve connection: disconnect, reconnect, and perform another leak check. If you
continue to see bubbles after several attempts, cylinder valve is defective and should be
returned to cylinder’s place of purchase.

Do not transport heater while it’s operating.

Do not move the heater after it has been turned off until the temperature has cooled down.
Keep the ventilating holes empty and debris-free.

Do not paint the radiant screen, control panel or top canopy reflector.

Control compartment, burner and circulation air passageways of the heater must be kept
clean.

Frequent cleaning may be required as necessary.

The LP tank should be turned off when the heater is not in use.
Check the heater immediately if any of the following occurs:
The heater does not reach temperature.

The burner makes popping noise during use (a slight noise is normal when the burner is
extinguished).

Smell of gas in conjunction with extreme yellow tipping of the burner flames.

The LP regulator/hose assembly must be located out of pathways where people may trip over
it or in area where the hose will not be subject to accidental damage.

Any guard or other protective device removed for servicing the heater must be replaced
before operating the heater.

Adults and children should stay away from high temperature surface to avoid burns or clothing
ignition.
Children should be carefully supervised when they are in the area of the heater.

Clothing or other flammable materials should not be hung on the heater or placed on or near
the heater.

If you want to change the gas hose, keep in mind it needs to be 60 cm long.
Use 10 kg gas cylinders with safety valve for this appliance only.

To change the gas cylinder in a amply ventilated area, away from any ignition source (candle,
cigarettes, other flame producing appliances).

Check if the regulator is secured firmly as shown in the picture.
Keep the ventilating holes always open.
Close the gas supply each time after you turn the appliance off.

In the event of gas leakage, the appliance shall not be used or if alight, the gas supply shall be
shut off and the appliance shall be investigated and rectified before it is used again.

Check the hose at least once per month, each time the cylinder is changed or each time
before long time no use. If it shows signs of cracking, splitting or other deterioration it shall be
exchanged for new hose of the same length and of the equivalent quality.



Gas requirements
Use LPG, propane, butane or propane/butane mixture gas tanks only.

Maximum inlet pressure of propane regulator must not exceed 100 PSI.

The installation must conform to local standards. In the absence of these standards it must
conform the standard for storage and handling liquid petroleum gases.

A dented, rusty or damaged tank may be hazardous and should be checked by your tank supplier.
Never use a tank with damaged valve connection.

The tank must be arranged to provide for vapor withdrawal from the operating cylinder.
Never connect an unregulated tank to this appliance.

Leakage test

Gas connections on the heater are leak tested at the factory prior to shipment. A complete
gas tightness check must be performed at the installation site due to possible mishandling
in shipment or excessive pressure being applied to the heater.

e Make a soap solution of one part liquid detergent and one part water. The soap solution can
be applied with a spray bottle, brush or rag. Soap bubbles will appear in case of a leak.

* The heater must be checked with a full cylinder.
e Make sure the safety control valve is in the OFF position.

e Turn the gas supply ON.

¢ In case of a leak, turn off the gas supply. Tighten any leaking fittings, then turn the gas
supply on and recheck.

e Never leak test while smoking.
* Any gas odor should be signal for you undertake safety steps while being careful.

¢ Do not do anything that could lead to open flame (don’t use matches. lighters, etc.) and do
not touch electric sockets/switchgears.

Operation and storage
To turn on the appliance:

1. Turn on the valve on the gas supply cylinder completely.
2. Push the control knob in and turn it to ,,PILOT position.

3. Press and hold the control knob for 90 seconds. To light the pilot flame, press the IGNITION
button several times after 60 seconds, until blue light shows. Once the light is constant,
release the control knob button and set your desired temperature.

¢ If a new tank has been connected, please allow the air to purge out through the pilot hole for
at least a minute.

e When lighting the pilot flame, make sure the variable control knob is continuously pressed
down while pressing the ignition button.



¢ Pilot flame can be watched and checked from the small round window with sliding lid located
at the bottom of the flame screen (to the left or right side of the controller).

e If the pilot flame does not light or it goes out, repeat step 3 (a 5 minute complete shut off
period is necessary before relighting).

To turn off the appliance:
e Turn the control knob to PILOT position

e Push and turn the control knob to OFF position.
e Turn the regulator connected to the gas cylinder to OFF position.

PILOT

«l

HEATER OPERATION
TO TURN THE HEATER ON

1.Ensure the control knob is at the OFF
position

2. Connect the gas regulator to a compatible
gas cylinder

6. Once the blue pilot light flame stays alight
constantly, let go of the variable control knob.
7. Turn the variable control knob to the
desired temperature position - Low to High.

NOTE : If lighting for the
heater for the first time or if
changing a new gas cylinder,
the control knob may need to
be held for 120 seconds at
the pilot position instead of
the normal 60 seconds.

TO TURN THE HEATER OFF

1. Tum the control knob to the
pilot position

2. Push and tumn the control
knob to OFF position

3. Tum the regulator connected

to the gas cylinder to the OFF

button until a blue pilot light appears position

’*//O/Y

Cleaning and care
¢ Wipe off powder coated surfaces with soft, moist rag. Do not clean the appliance with cleaners
that are combustible or corrosive.

IGNITION

S
N
3. Ensure a battery has been inserted into the
red ignition button.
OFF  # Push and tum the control knob anti clock
wise to the PILOT position and hold in for 60
® o

5. After 60 seconds have passed and whilst
holding at the pilot position, press the ignition

e Remove debris from the burner to keep it clean and safe for the next use.

Construction and characteristics
e Transportable terrace/garden heater with tank housing

e Casing in steel with powder-coating or stainless steel
e Gas connections equipped with metal clamp
¢ Heat emission from reflector

Specifications
e Use propane/butane or their mixture gas tanks only

* For outdoor use only

Troubleshooting

Service and maintaining

Periodic maintenance should be performed at intervals not exceeding 6 months or when
obvious fault occurs, i.e. flame burning abnormality or burner discoloration. These are general
signs of gas supply blockage or blocked burner ports.

To clean the burner ports, remove the reflector assembly by removing three nuts at the top
of the reflector. The mesh screen may then be extracted by removing four retention screws
at the base of the mesh screen and four screws at the top of the screen. Remove two screws
retaining the burner assembly, rotate the burner assembly slightly then remove the burner
assembly upwards.

Care should be always taken to avoid damage to the gas piping and ignition lead. The burner
and mesh screen may then be clean by compressed air. Assembly is a reversal of the above
steps.



If the PILOT is blocked by debris, spider webs etc., the pilot flame might be small and the
flame failure device may have not heated up enough for the main burner to work. If this
happens i tis necessary to clean the pilot and its gas tube.

To clean the PILOT, remove the burner and pilot cover as detailed above, inspect the pilot
injector and tubing for blockage. If obstructed, clean with compressed air. Clean the flame
failure device as well. Assembly is a reversal of above steps.

Technical details:

Appliance category: 3+(28-30/37) 3B/P(30) 3B/P(50) 3B/P(37)

Butane, Butane, Butane,
Type of gas: Butane | Propane | propane, propane, their | propane, their
their mixture | mixture mixture
28 : 30
regulator:

Injector:

Appliance category: 3+(28-30/37) 3B/P(30) 3B/P(50) 3B/P(37)

Butane, Butane, Butane,
Type of gas: Butane | Propane | propane, propane, their | propane, their
their mixture | mixture mixture
28 - 30
Gas pressure: mbar 37 mbar | 29 mbar 50 mbar mbar

Leistungsaufnahme gesamt: 13 kW (butan: 945 g/h, propan: 928 g/h

1,50 mm main | 1,70 mm main
1,80 mm main burner burner burner

0,18 mm pilot burner 0,18 mm pilot | 0,18 mm pilot
burner burner

The ma'rk'mg (e.g. 1.90 on the injector) indicates that the C € 0063/20
size of it is 1.90 mm.

Injector size:




Problem

Probable cause

Solution

Pilot doesn‘t light up

gas valve may be off
tank fuel empty

air in supply system
loose connections

turn the gas valve on
refill the tank

purge the air from lines
check all of them

Pilot doesn’t stay on

debris around pilot
loose connections
bad thermocouple
gas leak in line

lack of fuel pressure

clean the area

tighten them

replace it

check connections

tank nearly empty, refill it

Burner doesn’t light up

low pressure
opening blocked
control not on

bad thermocouple

bent pilot light
assembly

not in correct location

tank nearly empty, refill it
remove and clean it

turn the valve on

replace it

place in proper position
place in proper location

The English version of the manual is an exact translation of the original manufacturer's instructions.
Images used in this manual are for illustrational purposes only and may differ from the actual product.




Danke dass Sie sich fiir unser Produkt entschieden haben.
Bevor Sie dieses Gerat verwenden, lesen Sie bitte diese Anleitung.

Beschreibung des Gerats und seiner Teile

oMb

Flugelmutter

Reflektor
Reflektorabstandhalter
Schutzabdeckung
Oberteil

©® N o

Brenner

Abdeckung der Gasflasche
Basis
Rolle



Hinweise

1.

10

12.

Wenn Sie Gas riechen:
Schalten Sie die Gasversorgung des Geréts aus.

Wenn Sie immer noch Gas riechen, kontaktieren Sie Ihren
Gasanbieter oder die Feuerwehr.

Lagern Sie keine brennbaren Substanzen oder nicht
angeschlossenen Gasflaschen in der Nahe des Geréts.

Verwenden Sie das Gerat nur im Freien oder in einem
ausreichend bellfteten Bereich (d.h. mindestens 25%
offener Flache - eine freie Wand).

Eine unsachgemaBe Installation, Einstellung, Anderung, Wartung oder Instandhaltung kann
zu Personen- oder Sachschaden fiihren. Lesen Sie die Anweisungen zur Installation, Betrieb
und Wartung sorgfaltig durch, bevor Sie dieses Gerat installieren oder reparieren.

Dieses Gerat muss installiert und die Gasflasche gemaB den geltenden Vorschriften gelagert
werden.

Decken Sie die Belliftungséffnungen der Abdeckung der Gasflasche nicht ab.
Bewegen Sie das Gerat nicht, wahrend es in Betrieb ist.

SchlieBen Sie das Ventil an der Gasflasche oder trennen Sie den Gasregler, bevor Sie das
Gerat bewegen.

Der Gasschlauch muss innerhalb der vorgeschriebenen Frist ausgetauscht werden.

. Verwenden Sie nur die vom Hersteller angegebenen Gas- und Gasflaschentyp.
11.

Bei starkem Wind im Freien muss besonders darauf geachtet werden, dass das Gerat nicht
umKkippt.

SchlieBen Sie die Gasflasche nicht ohne Regler direkt an das Geréat an. Verwenden Sie nur
die in der Anleitung angegeben Art des Gases und der Gasflasche.

Fir Butan/Propan in der Kategorie I13B/P (30) ist ein Regler fiir 30 mbar zu nutzen.
Fur Butan ist ein Regler fiir 30mbar der Kategorie 13 + (28-30/37) zu nutzen.

Fur Propan ist ein Regler fir 37 mbar der Kategorie 13 + (28-30/37) zu nutzen.

Fir Propan/Butan in der Kategorie I13B/P (50) ist ein Regler fir 50 mbar zu nutzen.

Sicherheitsanweisungen Ceiling

1.

Verwenden Sie das Gerét nicht in Innenrdumen. Dies kann
zu Verletzungen oder Schaden an Ihrem Eigentum flihren. 28"

Das Gerat ist nicht fur den Einbau in Freizeitfahrzeuge und/ 70cm
oder Boote vorgesehen.

18"
45cm

Eine unsachgemaBe Installation, Einstellung, Anderung,
Wartung oder Instandhaltung kann zu Personen- oder
Sachschéaden fuhren.

Versuchen Sie nicht, das Gerét in irgendeiner Weise zu
modifizieren.

Ersetzen Sie den Regler nicht durch einen anderen als den
vom Hersteller empfohlenen Typ.

Lagern oder verwenden Sie kein Benzin oder andere
brennbare Dampfe oder Flissigkeiten in dem Strahler.

Das gesamte Gassystem, die Schlduche, der Regler und
der Ziindbrenner sollten vor dem ersten Gebrauch und

dann einmal im Jahr auf Gasleckage oder Beschadigung
Uberprift werden. —

Wall
O




10.
11.
12.
13.

14.

15.
16.
17.

18.

19.

20.

21.

22.

23.

24.
25.

26.
27.
28.
20.

30.

Alle Dichtheitsprifungen sollten mit einer Seifenlésung durchgeflhrt werden. Verwenden Sie
zur Uberpriifung der Dichtigkeit niemals eine offene Flamme.

Wenn Sie Gas riechen, schlieBen Sie sofort das Ventil der Gasflasche. Wenn der Schlauch/
Regler undicht ist: Ziehen Sie die Verbindung fest und filhren Sie eine weitere Uberpriifung
durch. Wenn weiterhin Blasen auftreten, ersetzen Sie den Schlauch. Wenn die Verbindung
zwischen Regler und Gasflasche undicht ist: Trennen Sie diese, schlieBen Sie sie wieder an
und filhren Sie eine erneute Uberpriifung durch. Wenn Sie nach mehreren Versuchen immer
noch Blasen sehen, ist das Ventil der Gasflasche defekt - ersetzen Sie es.

Bewegen Sie das Gerét nicht, wahrend es in Betrieb ist.
Bewegen Sie das Gerét nach dem Ausschalten erst, wenn es abgekuhlt ist.
Halten Sie die Liftungséffnungen frei und frei von Schmutz.

Lackieren Sie nicht die Brennerabdeckung, das Bedienfeld oder die obere Abdeckung des
Reflektors.

Die Steuerkomponenten, der Brenner und die Luftzirkulationskanéle des Gerats mussen
sauber gehalten werden.

Reinigen Sie das Gerét regelmaBig.
SchlieBen Sie das Ventil der Gasflasche, wenn das Gerat nicht in Betrieb ist.

Schalten Sie das Geréat sofort aus und Uberprifen Sie es, wenn eine der folgenden
Situationen eintritt:

Der Strahler erreicht nicht die erforderliche Temperatur.

Der Brenner macht wéahrend des Gebrauchs ein knackendes Geréusch (ein leichtes
Gerausch ist normal, wenn der Brenner ausgeht).

Sie riechen Gas in Verbindung mit einer extrem gelben Farbe der Brennerflammen.

Der verbundene Regler/Schlauch der Gasflasche diirfen sich nicht in einem Bereich
befinden, in dem Personen darlber stolpern kénnten.

Alle schiitzenden Teile des Gerdts missen nach dem Entfernen vor der weiteren
Verwendung ausgetauscht werden.

Halten Sie immer einen ausreichenden Abstand zum Strahler ein. Aufgrund der
Temperaturen, die bei Verwendung des Geréts erreicht werden, kdnnen Verbrennungen
auftreten.

Lassen Sie Kinder nicht unbeaufsichtigt in der Néhe des Geréts.

Hangen Sie keine Kleidung oder andere brennbare Gegenstande an oder in die Nahe des
Strahlers auf.

Wenn Sie den Gasschlauch ersetzen méchten, beachten Sie die erforderliche Léange von
60 cm.

Verwenden Sie fir dieses Gerét nur 10kg Gasflaschen mit Sicherheitsventil.

Wechseln Sie die Gasflasche in einer ausreichend bellfteten Umgebung in ausreichendem
Abstand zu brennbaren Gegensténden (Kerzen, Zigaretten, andere brennbare Gegenstande).

Uberpriifen Sie, ob der Regler wie gezeigt ordnungsgemaB montiert ist.
Stellen Sie sicher, dass die Bellftungsoffnungen der Gasflasche immer offen sind.
Schalten Sie nach dem Ausschalten des Geréats immer die Gaszufuhr zur Gasflasche aus.

Schalten Sie im Falle eines Gaslecks das Gerat aus, trennen Sie die Gasversorgung
vorsichtig von der Flasche und Uberprifen Sie das Gerat nach dem Abkdihlen.

Uberpriifen Sie den Schlauch mindestens einmal im Monat, jedes Mal, wenn Sie die
Gasflasche wechseln und wenn das Gerat langere Zeit nicht benutzt wurde. Wenn Sie
Anzeichen von Rissen oder anderen Schaden am Schlauch sehen, ersetzen Sie diesen
durch einen neuen Schlauch gleicher Lange und Qualitat.



Anforderungen an das Gas
Verwenden Sie fir dieses Geréat nur die vom Hersteller empfohlene Gasart (LPG, Propan, Butan).

Der maximale Eingangsdruck des Reglers einer Propan-Flasche darf 100 PSI nicht tberschreiten.

Die Installation und der Betrieb des Gerats missen den oOrtlichen Vorschriften entsprechen.
Falls keine lokalen Vorschriften vorhanden sind, halten Sie sich an die Standardverfahren fir die
Lagerung und Handhabung von Flussiggas.

Eine mangelhafte, verrostete oder beschadigte Gasflasche kann gefahrlich sein und sollte von
einem Spezialisten auf Sicherheit Uberpriift werden. Verwenden Sie niemals eine Gasflasche mit
einem beschéadigten Ventilanschluss.

Die Gasflasche muss so positioniert sein, dass Dampfe aus der Flasche entweichen kénnen.
SchlieBen Sie niemals eine ungeregelte Gasflasche an das Gerat an.

Uberpriifung der Dichtheit

Fir den Gasanschluss dieses Gerats wird vom Hersteller immer eine Dichtheitspriifung
durchgeflhrt, bevor das Produkt an den Kunden gesendet wird. Nach der Installation

des Gerats muss der Kunde jedoch eine vollstédndige ordnungsgemaBe Dichtheitspriifung
durchfliihren. Wahrend des Transports kdnnen Schaden durch GbermaBigen Druck oder falsche
Ladungssicherung auftreten.

e Mischen Sie eine 1: 2 Lésung aus Seife und Wasser. Die Losung kann mit einem Spray,
Pinsel oder Tuch aufgetragen werden. Bei schlechter Dichtheit treten Blasen auf.

¢ Das Gerat muss mit einer vollen Gasflasche Uberprift werden.
e Stellen Sie sicher, dass der Regulierknopf auf OFF steht.
e Schalten Sie die Gasversorgung ein.

e Schalten Sie bei einem Gasleck die Gasversorgung aus. Ziehen Sie die zusténdige Dichtung
fest, schalten Sie das Gas wieder ein und wiederholen Sie den Test.

e Rauchen Sie niemals, wenn Sie die Dichtheitspriifung durchfiihren.

/

Wenn Sie Gas riechen, nehmen Sie geeignete Sicherheitsvorkehrungen vor.

e Tun Sie nichts, was ein Feuer ausldésen konnte (zinden Sie keine Streichhdlzer an, benutzen
Sie kein Feuerzeug usw.) und beriihren Sie keine Steckdosen/Schalter.

Nutzung und Lagerung

Einschalten des Geréts:
1. Offnen Sie das Ventil an der angeschlossenen Gasflasche vollstandig.

2. Drucken Sie den Regulierknopf und drehen Sie ihn in die Position PILOT (um 90° gegen den
Uhrzeigersinn).

3. Halten Sie den Regulierknopf 90 Sekunden lang gedriickt. Um den Brenner zu ziinden,
driicken Sie nach 60 Sekunden mehrmals den Ziindknopf (IGNITION), bis ein blaues Licht
erscheint. Sobald das Licht konstant ist und nicht schwankt, lassen Sie den Regulierknopf los



und stellen Sie die gewiinschte Temperatur ein.

e Wenn Sie eine neue Gasflasche angeschlossen haben, warten Sie mindestens eine Minute,
bis sich die Leitung mit Gas aus der Gasflasche geflllt hat.

e Halten Sie beim Ziinden der Flamme sowohl den Ziindknopf als auch den Regulierknopf
gedruckt.

e Sie kdnnen die Zindflamme mithilfe eines kleinen runden Fensters mit einem Schiebedeckel
unten an der Brennerabdeckung (links oder rechts von der Steuerung) Uberwachen und
steuern.

e Wenn die Zindflamme nicht ziindet oder erlischt, wiederholen Sie Schritt 3 (warten Sie 5

Minuten, bevor Sie den Versuch wiederholen).

Ausschalten des Gerats

e Drehen Sie den Regulierknopf in die Position PILOT.

e Dricken Sie und drehen Sie den Knopf in die Position OFF.
e SchlieBen Sie das Gaszufuhrventil an der Gasflasche.

PILOT HEATER OPERATION 6. Once the blue pilot light flame stays alight  NOTE : Jfighting for the
constantly, let go of the variable control knob.  heater for the first fime or if
y TO TURN THE HEATER ON 7 Turm the varisie conirol knob t the e e
RN 1. Ensure the control knob is at the OFF desired temperature position - Low o High the control knob may need to
\9 position be held for 120 seconds at
2. Connect the gas regulator to a compatible the pilot position instead of
gas cylinder the normal 60 seconds,
3. Ensure a battery has been inserted into the
ed ignition button. TO TURN THE HEATER OFF
OFF  * Push and tur the contrl knob antilock 1 Tum the control knob {0 the
@ 0o PILOT posiion and hodin o 60 pilot position
seconds 2. Push and turn the control
5. After 60 seconds have passed and whilst knob to OFF position
holding at the pilot position, press the ignition 3. Tum the regulator connected
button until a blue pilot light appears . fo the gas cylinder to the OFF
IGNITION ot
/5’/0&

Reinigung und Instandhaltung
e Pulverbeschichtete Oberflachen mit einem weichen, feuchten Tuch abwischen. Reinigen Sie
das Gerét nicht mit brennbaren oder dtzenden Reinigungsmitteln.

e Entfernen Sie Schmutz vom Brenner, um ihn sauber und sicher zu halten.

Konstruktion und Eigenschaften
e Ubertragbarer Garten- / Terrassenstrahler mit Platz fir eine Gasflasche

e Stahl / Edelstahlgehduse mit Pulverbeschichtung
e Schlauchanschluss mit Metallklemme
e Warmeerzeugung vom Gerét

Spezifikation
¢ Verwenden Sie nur Gasflaschen, die mit Propan, Butan oder Gemischen davon geflllt sind

e Nur flr den AuBenbereich

Reinigung und Instandhaltung

RegelmaBige Wartung sollte in Abstanden von weniger als 6 Monaten durchgefiihrt werden oder
wenn Sie sichtbare Probleme wie schlechtes Flammenbrennen oder Verfarben des Brenners
bemerken. Dies ist ein Zeichen fiir eine schlechte/blockierte Gasversorgung oder blockierte
Brenneranschlisse.

Entfernen Sie zum Reinigen der Brenner6ffnungen die Aufstellung des Reflektors, indem Sie die
drei Muttern oben am Reflektor entfernen. Das Netz kann dann entfernt werden, indem die vier
Schrauben an dem Gehdause und die vier Schrauben an der Oberseite entfernt werden. Entfernen
Sie die beiden Schrauben, mit denen die Aufstellung des Brenners befestigt ist, drehen Sie diese
leicht und entfernen Sie sie nach oben.



Achten Sie darauf, dass es nicht zur Beschadigung der Gasleitungen und der Ziindung kommt.
Der Brenner und das Netz konnen dann mit Druckluft gereinigt werden. Bauen Sie die gesamte
Aufstellung mithilfe der Schritte im vorherigen Absatz in umgekehrter Reihenfolge wieder
zusammen.

Wenn der ZUNDBRENNER mit Schmutz, Spinnennetzen usw. verstopft ist, ist die ZUNDFLAMME
moglicherweise klein und der Mechanismus gegen Flammenausfall erwédrmt sich méglicherweise
nicht ausreichend, um den Hauptbrenner zu entziinden. In diesem Fall missen Sie den
ZUNDBRENNER und seine Gasleitungen reinigen.

Technische details:

3+(28-30/37) 3B/P(30) 3B/P(50) 3B/P(37)

Butan,
Gasart: Butan Propan Butan, Propan, | Butan, Propan, Propan,
Gemisch Gemisch)
Gemisch
ar mbar
Reglerausganngru

Tabelle fir den Injektor

3+(28-30/37) 3B/P(30) 3B/P(50) 3B/P(37)

Butan,
Gasart: Butan Propan B”ta.”’ PIRE[REN, B“taf“ e Propan,
Gemisch Gemisch )
Gemisch
Gasdruck: 2E-2y | 5 29 mbar 50 mbar 37 mbar
mbar mbar

Leistungsaufnahme gesamt: 13 kW (butan: 945 g/h, propan: 928 g/h

1,50 mm 1,70 mm
1,80 mm Hauptbrenner Hauptbrenner | Hauptbrenner

0,18 mm Zindbrenner 0,18 mm 0,18 mm
Zindbrenner Zundbrenner

Die Kennzeichnung z.B. 1,90 auf dem Injektor bedeutet c € 0063/20
seine GroBe..

Injektor-GroBe:




Problemlésungen

Problem Wabhrscheinliche Ursache Lésung
Zundbrenner e geschlossene o Offnen Sie diese
zindet nicht Gasversorgung ¢ Gasflasche nachfiillen/ersetzen
* Kein Gas in der Flasche e Luft aus der Saule entfernen
e Luftin der Saule ¢ Aligemeine Kontrolle
e |ose Verbindungen/
Dichtungen
Zundbrenner e Schmutz in N&he des * Die Umgebung reinigen
erldscht n_ach Zindbrenners e Verbindungen festziehen
kurzer Zeit e lose Verbindungen o Teil ersetzen
e Schlechtes Thermoelement e Dichtungen und Anschlilsse
® Gasleck in der Saule prufen
e niedriger Druck e Gasflasche fast leer, nachflllen/
ersetzen
Der Brenner ziindet ® niedriger Druck e Gasflasche fast leer, nachftllen/
nicht e verstopfte Gasversorgung ersetzen
e Ventil geschlossen * Brenner reinigen
¢ Schlechtes Thermoelement * Ventil 6ffnen
e Gebogene Aufstellung des * Teil ersetzen
Zindbrenners ¢ In die richtige Position bringen
e Schlechte Umgebung * An einem Ort aufstellen, der flr
den ordnungsgemaBen Betrieb
des Geréts geeignet ist

Die deutsche Version der Anleitung ist eine genaue Ubersetzung der Anleitung des Herstellers.

Die in diesem Handbuch verwendeten Bilder dienen nur zur lllustration und kénnen nicht genau
das Produkt entsprechen.



Dékujeme za nakup naseho vyrobku.
PFed pouzitim pfistroje si prosim prectéte tento navod.

Popis a specifikace

(1]
b
e ]
(5

1. Kfidlova matice 6. Horak
2. Reflektor 7. Kryt plynové bomby
3. Rozpérky reflektoru 8. Zakladna
4. Ochranny kryt 9. Kole¢ka
5. Vrchni plat



Upozornéni

1.

Pokud citite plyn:
Vypnéte pfivod plynu do zafizeni.

Pokud i naddle citite plyn, kontaktujte distributora plynu nebo
hasice.

Neskladujte v blizkosti zafizeni zadné horlavé latky ani
nepfipojenou plynovou bombu.

Zafizeni pouzivejte pouze venku nebo v dostatecné vétraném prostoru (otevieny prostor
minimalné 25 % plochy).

Nespravna instalace, sefizeni, Upravy, servis nebo Udrzba muiZze zpUsobit zranéni nebo

poskozeni majetku. Prectéte si dliikladné pokyny k instalaci, provozu a udrzbé pred instalaci

nebo opravou tohoto zafizeni.

Tento spotfebi€ musi byt nainstalovan a plynova bomba uskladnéna v souladu s platnymi
predpisy.

Nezakryvejte ventilacni otvory krytu bomby.

Nehybejte se spotrebi¢em, kdyz je v provozu.

Nez budete se zafizenim hybat, uzavrete ventil na plynové bombé nebo regulator zafizeni.
Plynova hadice musi byt vyménéna béhem predepsaného obdobi.

. Pouzivejte pouze typ plynu a typ bomby specifikovany vyrobcem.
. 'V pfipadé prudkého vétru je tfeba vénovat zvlastni pozornost naklonéni spotrebice.
. Nepfipojujte plynovou bombu pfimo k zafizeni bez regulatoru. PouZzivejte pouze typ plynu

a typ bomby uvedené v pokynech.

Pro butan/propan v kategorii I3B/P (30) pouzijte regulator 30 mbar.

Pro butan pouzijte regulator 30mbar kategorie I3 + (28-30/37).

Pouzijte regulator 37 mbar pro propan kategorie I3 + (28-30/37).

Pro kategorii butan/propan v kategorii I3B/P (50) pouzijte regulator 50 mbar.

Bezpecnostni instrukce

1.

NepouZivejte zafizeni ve vnitfnich prostorach. Mohlo by Ceiling

dojit ke zranéni nebo poskozeni vaseho majetku. | E
Zatizeni neni ur&eno k instalaci na rekreaéni vozidla a/ 28" 2 K:‘J
nebo lodé. 70cm

Nespravna instalace, sefizeni, Upravy, servis nebo udrzba

muzZe zpUsobit zranéni nebo poskozeni majetku.

Nepokousejte se jakymkoli zplsobem zafizeni upravovat.

Nenahrazujte regulator jinym typem nez doporu¢enym od

vyrobce.

V topidle neskladujte ani nepouzivejte benzin nebo jiné

hoflavé pary nebo kapaliny.

Cely plynovy systém, hadice, regulator a zapalovaci = Q.o

horék by mély byt pred prvnim uzitim zkontrolovany pro = O

pfipadné propusténi plynu nebo poskozeni, poté vzdy

jednou za rok.

VSechny zkousky tésnosti by mély byt provadény TREREK

s mydlovym roztokem. Nikdy ke kontrole tésnosti

nepouzivejte otevieny plamen.
Pokud citite zadpach plynu, okamzité vypnéte plynovy



10.
11.
12.
13.
14.

15.
16.
17.

18.

19.

20.

21.
22.
23.
24.
25.

26.
27.
28.
29.

30.

ventil a vypnéte ventil valce. Pokud je netésnost na hadici/pfipojeni regulatoru: utahnéte
pfipojeni a provedte dalsi zkousku tésnosti. Pokud se bubliny nadale objevuji, vymérite
hadici. Pokud je netésnost na pfipojeni regulatoru/valce: odpojte jej, znovu jej pfipojte

a provedte dalSi kontrolu tésnosti. Pokud nadale vidite bubliny i po nékolika pokusech, ventil
vélce je vadny — vymérite jej.

Se zafizenim nehybejte, kdyZ je v provozu.

Po vypnuti se zafizenim nehybejte, dokud se neochladi.

Udrzujte ventilaéni otvory vélce volné a bez necistot.

Nebarvéte kryt hofaku, kontrolni panel ani vrchni kryt reflektoru.

Kontrolni/ovladaci soucasti, hofak a cirkulaéni prlichody vzduchu ohfivace musi byt
udrzovany Cisté.

Zarizeni pravidelné Cistéte.

Vypnéte plynovou bombu, pokud neni zafizeni v provozu.

Okamzité vypnéte a zkontrolujte zafizeni, pokud nastane néktera z nasleduijicich situaci:
Ohfiva¢ nedosahuje pozadované teploty.

Horak vydava béhem pouzivani praskavy zvuk (pfi zhasnuti hofaku je lehky hluk normaini).
Citite plyn ve spojeni s extrémné Zlutym zbarvenim plamend horaku.

Sestava regulatoru/hadice plynové bomby nesmi byt umisténa v prostoru, kde by o ni lidé
mohli zakopnout.

Jakakoliv ochranna ¢ast zafizeni musi byt po vyjmuti nahrazena pred jeho dalSim
pouzivanim.

Vzdy budte v dostate¢né vzdalenosti od topidla. Kvdli teplotam, kterych pfi uzivani zafizeni
dosahuje, by mohlo dojit k popaleni.

Nenechavejte déti bez dohledu v blizkosti zafizeni.

Nevéste obleceni ani jiné horlavé véci na nebo v blizkosti topidla.

Pokud chcete vyménit plynovou hadici, méjte na paméti pozadavek na délku 60 cm.

Pro toto zafizeni pouzivejte pouze 10kg plynové bomby s bezpe€nostnim ventilem.

Plynovou bombu mérite v dostatecné vétraném prostiedi v dostate¢né vzdalenosti od
hoflavych predmétd (sviCky, cigarety, jiné hotlavé predméty).

Zkontrolujte, ze regulator je fadné zajiStény dle obrazku.

Dbejte, aby ventilacni otvory plynové bomby vzdy byly oteviené.

Po vypnuti zafizeni vzdy uzavrete pfivod plynu z bomby.

V pfipadé unikani plynu zafizeni vypnéte, opatrné odpojte pfivod plynu z bomby a zafizeni
po vychladnuti zkontroluijte.

Zkontrolujte hadici alespon jednou mési¢né, pokazdé kdyz ménite plynovou bombu a kdyz
zafizeni nebylo dlouho pouzivano. Pokud vidite zndmky prasklin, rozdéleni nebo jiné
poskozeni hadice, vyménte ji za novou hadici stejné délky a kvality.

Plynové pozadavky
S timto zafizenim pouzivejte pouze dodavatelem doporuéeny druh plynu (LPG, propan, butan).

Maximalni vstupni tlak regulatoru propanové bomby nesmi prekrogit 100 PSI.

Instalace a provoz zafizeni musi odpovidat mistnim pfedpisim. V pfipadé absence téchto
predpist dodrzujte standartni postupy pro skladovani a manipulaci s kapalnymi ropnymi plyny.

Potlu¢ena, zrezivéla nebo poskozend plynova bomba mize byt nebezpecna a méla by byt
zkontrolovana pro bezpecnost pouziti odbornikem. Nikdy nepouzivejte bombu s poskozenym



pfipojenim ventilu.

Plynova bomba musi byt nastavena tak, aby umozhovala odvod par z valce.

Nikdy k zafizeni nepfipojujte neregulovanou plynovou bombu.

Zkouska tésnosti

U plynového napojeni tohoto zafizeni je vzdy provedena zkouska tésnosti dodavatelem pred
odeslanim zbozi zakaznikovi. Nicméné kompletni fadna zkouska tésnosti musi byt provedena
zékaznikem po instalaci zafizeni. Béhem prepravy mize dojit k uvolnéni nebo nadmérnému tlaku.

Vytvoite si roztok z mydla a vody v poméru 1:2. Roztok mlze byt aplikovan pomoci
rozprasovace, Stétce nebo hadfiku. V pfipadé Spatné tésnosti se objevi bubliny.

Zafizeni musi byt kontrolovano s plnou plynovou bombou.
Ujistéte se, Ze bezpecnosti regulacni ventil je uveden do pozice OFF.
Zapnéte pfivod plynu.

V pfipadé uniku plynu vypnéte pfivod plynu. Utdhnéte tésnéni, kterym plyn unikal, znovu
zapnéte pfivod plynu a test opakujte.

Nikdy pfi provadéni zkousky té&snosti nekurte.

/

V pripadé, Ze citite plyn, podniknéte pfislusné bezpecnostni kroky za zvy$ené opatrnosti.

Nedélejte nic, co by mohlo vést k zazehnuti ohné (nezapalujte sirky, neskrtejte zapalovacem,
atd.) a nedotykejte se elektrickych zasuvek/spinacd.

Pouzivani a uskladnéni

Zapnuti spotrebice:

1.
2.

UplIné otevete ventil na napojené plynové bombé.

Stisknéte a otocte regulacni knoflik do polohy PILOT. Ujistéte se, Ze v tlacitku zapalovani jsou
baterie.

Zmacknéte a drzte regulac¢ni knoflik po dobu 90 vtefin. Pro zapaleni hofaku nékolikrat
zmacknéte tlacitko zapalovani (IGNITION) po uplynuti 60 vtefin, dokud se neobjevi modré
svétlo. Jakmile je svétlo konstantni a nekolisa, uvolnéte regula¢ni knoflik a nastavte si
pozadovanou teplotu.

Pokud jste napojili novou plynovou bombu, pockejte alespor jednu minutu, nez vzduch
z plynovodu vyprcha pilotnim otvorem.

Pri zapalovani plamene se ujistéte, ze drzite stisknuté jak tladitko zapalovace, tak regulaéni
knoflik.

Pilotni plamen mUzete sledovat a kontrolovat pomoci malého kulatého okénka s posuvnym
vikem umisténym ve spodni ¢asti krytu horaku (na levé nebo pravé strané ovladace).

Pokud se pilotni plamen nerozhofi nebo uhasne, opakujte krok &. 3 (pfed opakovanim pokusu
je nutno vyckat 5 minut).



Vypnuti spotrebice

¢ Otocte regulaéni knoflik do polohy PILOT.
o Stisknéte a otocte knoflik do pozice OFF.
e Uzavrete ventil pfivodu plynu na plynové bombé.

Q
N

PILOT

«l

HEATER OPERATION
TO TURN THE HEATER ON

1.Ensure the control knob is at the OFF
position

2. Connect the gas regulator to a compatible
gas cylinder

3. Ensure a battery has been inserted into the
red ignition button.

4. Push and turn the control knob anti clock
wise to the PILOT position and hold in for 60
seconds

5. After 60 seconds have passed and whilst
holding at the pilot position, press the ignition
button until a blue pilot light appears

6. Once the blue pilot ight flame stays alight
constantly, let go of the variable control knob.
7. Tumn the variable control knob to the
desired temperature position - Low to High

NOTE : If lighting for the
heater for the first time or if
changing a new gas cylinder,
the control knob may need to
be held for 120 seconds at
the pilot position instead of
the normal 60 seconds.

TO TURN THE HEATER OFF

1. Tum the control knob to the
pilot position

2. Push and tum the control
knob to OFF position

3. Tun the regulator connected
o the gas cylinder to the OFF
position

IGNITION

/*//O/Y

Cisténi a Gdrzba
e Praskem potazené povrchy otfete mékkym vlhkym hadfikem. Necistéte zafizeni Cisticimi
prostredky, které jsou hoflavé nebo korozivni.
e QOdstrarite necistoty z hofaku, abyste jej udrzeli isty a bezpeény pro pouzivani.

Konstrukce a vlastnosti
e Prenosné zahradni/terasoveé topidlo s prostorem na plynovou bombu

® Pouzdro z oceli/nerezové oceli s praSkovym nastfikem
¢ Napojeni hadice kovovou svorkou
e Produkce tepla ze zafizeni

Specifikace
e Pouzivejte pouze plynové bomby plnéné propanem, butanem nebo jejich smési

e Pouze pro venkovni pouZziti

Cisténi a udrzba

Pravidelna udrzba by méla byt provadéna v intervalech krasich nez 6 mésicl nebo kdyZ si
véimnete viditelnych problémd, jako napf. $patné hofeni plamene nebo zbarveni hofaku. To je
znamkou $patného/blokovaného pfivodu plynu nebo blokovanych portd hofaku.

Chcete-li vycistit porty hofaku, demontujte sestavu reflektoru odstranénim tfi matic v horni ¢asti
reflektoru. Sitovinu Ize poté vyjmout odstranénim &tyF Sroubl v jeji zakladné a &tyF Sroubu v jeji
horni ¢asti. VySroubujte dva Srouby pfidrzujici sestavu horaku, sestavu hofaku mirné pootocte
a vyjméte ji smérem nahoru.

Dbejte opatrnosti, aby nedoslo k poskozeni plynovych trubek a zapalovani. Horak a sitovina
poté mohou byt oci§tény stlacenym vzduchem. Celou sestavu znovu zkompletujte pomoci krokd
v pfechozim odstavci v opacném poradi.

Pokud je PILOT zaneseny necistotami, pavouc¢imi sitémi atd., PILOT plamen mdZze byt maly

a zarizeni proti selhani plamene se nemusi dostate¢né ohrat, aby se rozhorel hlavni horak. Pokud
k tomuto pfipadu dojde, musite vycistit PILOT a jeho plynové trubky.

Chcete-li PILOT vygistit, demontujte hofak a krytku PILOT dle postupu popsaného vyse,
zkontrolujte, zda nejsou PILOT vstfikova¢ a trubky ucpané. Pokud jsou ucpané, vycistéte

je stlatenym vzduchem. Ocistéte také zafizeni proti selhani plamene. Celou sestavu znovu
zkompletujte, viz postup vySe v opacném poradi.



Technické informace:

Kategorie plynu: | 3+(28-30/37) 3B/P(30) 3B/P(50) 3B/P(37)
Mix plynu Mix plynu Mix plynu
Druhy plynu: Butan Propan | propanu propanu propanu
a butanu (LPG) | a butanu (LPG) a butanu (LPG)
. 28-30 |37
Vystupni tlak
regulatoru

Tabulka vstfikovace

3+(28-30/37) 3B/P(30) 3B/P(50) 3B/P(37)
zarizeni

Mix plynu Mix plynu Mix plynu
Druhy plynu: Butan Propan | propanu propanu propanu
a butanu (LPG) | a butanu (LPG) a butanu (LPG)
. 28 - 30
Celkovy tepelny pfikon: 13 kW (butan: 945 g/h, propan: 928 g/h

1,50 mm hlavni 1,70 mm hlavni
Velkost 1,80 mm hlavni horak horak horak

vstrekovaca: 0,18 mm pilotni horak 0,18 mm pilotni | 0,18 mm pilotni
horak horak

Znacenie napr. 1,90 na vstrekovaci znamena jeho
velkost.




Reseni problému

prazdna

Vzduch ve sloupku/
hadici

Uvolnéné spoje/tésnéni

Problém Pravdépodobna pficina Reseni
Pilot se nerozsviti Vypnuty ventil na bombé Zapnéte jej
Plynova bomba je Doplite/Vyménite ji

Odstrante vzduch ze sloupku
Zkontrolujte je

Pilot nevydrzi zapnuty

Necistoty okolo pilot
Uvolnéné spoje
épatny termoclanek
Unik plynu ve sloupku
Maly tlak

Ocistéte jeho okoli
Utahnéte je

Vymeénte jej

Zkontrolujte spoje/tésnéni

Témér prazdna nadoba, doplrite/
vymérite ji

Horak se nezapali

Maly tlak

Ucpany pfivod plynu
Zavreny ventil
Spatny termodlanek

Ohnuta sestava pilotniho
svétla/plamene

Spatné prostiedi

Témér prazdna nadoba, doplrite/
vymérite ji

Vycistéte jej

Otevrete jej

Vyménte jej

Nastavte sestavu do spravné
polohy

Umistéte horak do mista
odpovidajiciho ke spravnému
provozu zafizeni

Ceska verze navodu je presnym piekladem originalniho navodu vyrobce.

Fotografie pouzité v manualu jsou pouze ilustrani a nemusi se prfesné shodovat s vyrobkem.




Dakujeme za nakup nasho vyrobku.
Pred pouzitim pristroja si prosim precitajte tento navod.

Popis a Specifikacie

1. Kridlova matica 6. Horak

2. Reflektor 7. Kryt plynovej bomby
3. Rozperky reflektora 8. Zakladna

4. Ochranny kryt 9. Kolieska

5. Vrchny plat



Upozornenie
1. Ak citite plyn:

¢ \/ypnite privod plynu do zariadenia.
e Ak aj nadalej citite plyn, kontaktujte distributora plynu
alebo hasicov.

2. Neskladujte v blizkosti zariadenia Ziadne horlavé latky
ani nepripojenu plynovd bombu.

3. Zariadenie pouzivajte iba vonku alebo v dostato¢ne
vetranom priestore (otvoreny priestor minimalne 25 % plochy).

4. Nespravna instalacia, nastavenie, Upravy, servis alebo udrzba méze spdsobit zranenie alebo
poskodenie majetku. Precitajte si dokladne pokyny na instalaciu, prevadzku a udrzbu pred
inStalaciou alebo opravou tohto zariadenia.

5. Tento spotrebi¢ musi byt nainstalovany a plynova bomba uskladnena v sulade s platnymi
predpismi.

6. Nezakryvajte ventilaéné otvory krytu bomby.
Nehybte so spotfebi¢om, ked' je v prevadzke.

Nez budete so zariadenim hybat, uzavrite ventil na plynovej bombe alebo regulator
zariadenia.

9. Plynova hadica musi byt vymenena pocas predpisaného obdobia.
10. Pouzivajte iba typ plynu a typ bomby Specifikovany vyrobcom.
11. V pripade prudkého vetra je potrebné venovat osobitni pozornost nakloneniu spotrebica.

12. Nepripdjajte plynovd bombu priamo k zariadeniu bez regulatora. Pouzivajte len typ plynu
a typ bomby uvedeny v usmerneni.

e Pre butan/propan v kategorii I3B/P (30) pouzite regulator 30 mbar.

e Pre butan pouzite regulator 30mbar kategodrie 13 + (28-30/37).

e Pouzite regulator 37 mbar pre propan kategoérie 13 + (28-30/37).

¢ Pre kategériu butan/propan v kategérii 1I3B/P (50) pouzite regulator 50 mbar.

Bezpecnostné instrukcie
1. Nepouzivajte zariadenie vo vnutornych priestoroch. Mohlo by

dojst k zraneniu alebo poskodeniu vasho majetku. Ceiling
2. Zariadenie nie je uréené na instalaciu na rekreac¢né vozidla a/ , % g
alebo lode. 28" -2
70cm

3. Nespravna instaldcia, nastavenie, Upravy, servis alebo udrzba
moze sposobit zranenie alebo poskodenie majetku.

4. Nepokusajte sa akymkolvek spésobom zariadenie upravovat.
5. Nenahradzujte regulator inym typom nez odporu¢enym od
vyrobcu.

6. V ohrievaci neskladujte ani nepouzivajte benzin alebo iné
horlavé pary alebo kvapaliny.

7. Cely plynovy systém, hadica, regulator a zapalovaci horak
by mali byt pred prvym pouzitim skontrolované pre pripadné F
prepustenie plynu alebo poskodenia, potom vzdy raz za rok. = O
8. VSetky skusky tesnosti by mali byt vykonavané s mydlovym
roztokom. Nikdy ku kontrole tesnosti nepouzivajte otvoreny
plamen. 1000

9. Ak citite zapach plynu, okamzite vypnite plynovy ventil —




a vypnite ventil valca. Pokial je netesnost na hadicu/pripojenie regulatora: utiahnite
pripojenie a vykonajte dalSiu skusku tesnosti. Ak sa bubliny nadalej objavuju, vymerite
hadicu. Pokial je netesnost na pripojenie regulatora/valca: odpojte ho, znovu ho pripojte

a vykonajte dalSiu kontrolu tesnosti. Pokial nadalej vidite bubliny aj po niekolkych pokusoch,
ventil valca je chybny — vymerite ho.

10. So zariadenim nehybte, ked'je v prevadzke.

11. Po vypnuti so zariadenim nehybte, kym sa neochladi.

12. Udrzujte ventila¢né otvory valca volné a bez necistot.

13. Nefarbite kryt horaka, kontrolny panel ani vrchny kryt reflektora.

14. Kontrolné/ovladacie sucasti, horak a cirkulacné priechody vzduchu ohrieva¢a musia byt

udrziavané Cisté.

15. Zariadenie pravidelne Cistite.

16. Vypnite plynovi bombu, pokial nie je zariadenie v prevadzke.

17. Okamzite vypnite a skontrolujte zariadenie, ak nastane niektora z nasledujucich situcii:
¢ Ohrieva¢ nedosahuje pozadovanej teploty.
¢ Horak vydava poc¢as pouzivania praskavy zvuk (pri zhasnuti horaka je lahky hluk normalny).
¢ Citite plyn v spojeni s extrémne zltym sfarbenim plameriov horaka.

18. Zostava regulatora/hadica plynovej bomby nesmie byt umiestnend v priestore, kde by o fiu
[udia mohli zakopnut.

19. Akékolvek ochranna €ast zariadenia musi byt po vybrati nahradena pred jeho dal$im
pouzivanim.

20. Vzdy budte v dostato¢nej vzdialenosti od vykurovacieho telesa. Kvoli teplotam, ktoré pri
uzivani zariadenie dosahuje, by mohlo déjst k popaleniu.

21. Nenechavajte deti bez dozoru v blizkosti zariadenia.

22. NeveSajte obleCenie ani iné horlavé veci na alebo v blizkosti vykurovacieho telesa.
23. Pokial chcete vymenit plynovi hadicu, majte na pamati poziadavku na dizku 60 cm.
24. Pre toto zariadenie pouzivajte iba 10kg plynové bomby s bezpecnostnym ventilom.

25. Plynovd bombu mente v dostatocne vetranom prostredi v dostatoénej vzdialenosti od
horlavych predmetov (sviecky, cigarety, iné horlavé predmety).

26. Skontrolujte, Ze regulator je riadne zaisteny podla obrazku.
27. Dbajte, aby ventilacné otvory plynovej bomby vzdy boli otvorené.
28. Po vypnuti zariadenia vzdy uzavrite privod plynu z bomby.

29. V pripade unikania plynu zariadenie vypnite, opatrne odpojte privod plynu z bomby
a zariadenie po vychladnuti skontroluijte.

30. Skontrolujte hadicu aspon raz mesacne, zakazdym ked menite plynovi bombu a ked'
zariadenie nebolo dlho pouzivané. Ak vidite znamky prasklin, rozdelenia alebo iné
poskodenie hadice, vymerite ju za novu hadicu rovnakej dizky a kvality.

Plynové poziadavky

S tymto zariadenim pouzivajte iba dodavatelom odporucany druh plynu (LPG, propan, butan).
Maximalny vstupny tlak regulatora propanovej bomby nesmie prekrocit 100 PSI.

Instalacia a prevadzka zariadenia musi zodpovedat miestnym predpisom. V pripade absencie
takychto predpisov dodrzujte Standardné postupy pre skladovanie a manipulaciu s kvapalnymi
ropnymi plynmi.

Pomliazdend, zhrdzavena alebo poskodena plynova bomba méze byt nebezpeéna a mala by byt
skontrolovana pre bezpe¢nost pouzitia odbornikom. Nikdy nepouzivajte bombu s poskodenym



pripojenim ventilu.

Plynova bomba musi byt nastavena tak, aby umozfovala odvod par z valca.

Nikdy k zariadeniu nepripajajte neregulovanu plynovi bombu.

Skuska tesnosti

U plynového napojenia tohto zariadenia je vzdy vykonana skuska tesnosti dodavatelom
pred odoslanim tovaru zakaznikovi. AvSak kompletna riadna skuska tesnosti musi byt

vykonana zakaznikom po instalacii zariadenia. Poc¢as prepravy méze déjst k uvolneniu alebo

nadmernému tlaku.

Vytvorte si roztok z mydla a vody v pomere 1 : 2. Roztok méze byt aplikovany pomocou

rozprasovaca, Stetca alebo handricky. V pripade zlej tesnosti sa objavia bubliny.

Zariadenie musi byt kontrolované s plnou plynovou bombou.

Uistite sa, Ze bezpecnostny regulaény ventil je uvedeny do pozicie OFF.

Zapnite privod plynu.

V pripade Uniku plynu vypnite privod plynu. Utiahnite tesnenie, ktorym plyn unikal, znova

zapnite privod plynu a test opakuijte.

Nikdy pri vykonavani skusky tesnosti nefajcite.
V pripade, ze citite plyn, podniknite prislusné bezpecnostné kroky za zvySenej opatrnosti.

Nerobte ni¢, ¢o by mohlo viest k zapaleniu ohiia (nezapalujte zapalky, neskrtajte zapalovac¢om,

atd’) A nedotykajte sa elektrickych zasuviek/spinacov.

Pouzivanie a uskladnenie

Zapnytie spotrebica:
Uplne otvorte ventil na napojenej plynovej bombe.

1.
2.

Stlacte a otocte regulaény gombik do polohy PILOT. Uistite sa, Ze v tlacidle zapalovania su

batérie.

Stlacte a drzte regulacny gombik po dobu 90 sekund. Pre zapalenie horaku niekolkokrat
stlacte tlacidlo zapalovania (IGNITION) po uplynuti 60 sekund, kym sa neobjavi modré svetlo.

PILOT

«l

S
9
OFF
Q )

A//G %

HEATER OPERATION
TO TURN THE HEATER ON

1.Ensure the control knob is at the OFF
position

2. Connect the gas regulator to a compatible
gas cylinder

3. Ensure a battery has been inserted into the
red ignition button.

4. Push and turn the control knob anti clock
wise to the PILOT position and hold in for 60
seconds

5. After 60 seconds have passed and whilst
holding at the pilot position, press the ignition
button until a blue pilot light appears

o

6. Once the blue pilot light flame stays alight
constantly, let go of the variable control knob.
7. Turn the variable control knob to the
desired temperature position - Low to High.

IGNITION

NOTE : If ighting for the
heater for the first time or if
changing a new gas cylinder,
the control knob may need to
be held for 120 seconds at
the pilot position instead of
the normal 60 seconds.

TO TURN THE HEATER OFF

1. Tum the control knob to the
pilot position

2. Push and turn the control
knob to OFF position

3. Turn the regulator connected
o the gas cylinder to the OFF
position




Akonahle je svetlo konstantné a nekoliSe, uvolnite regulacny gombik a nastavte si pozadovanu
teplotu.

e Ak ste napojili novu plynovi bombu, pockajte aspon jednu minutu, nez vzduch z plynovodu
vyprcha pilotnym otvorom.

e Pri zapalovani plamena sa uistite, Ze drzite stla¢ené ako tlacidlo zapalovaca, tak regulacny
gombik.

e Pilotny plamefi mobzZete sledovat a kontrolovat pomocou malého okruhleho okienka
s posuvnym vekom umiestnenym v spodnej €asti krytu horaka (na lavej alebo pravej strane
ovladaca).

e Ak sa pilotny plamen nerozhori alebo zhasne, zopakujte krok ¢. 3 (pred opakovanim pokusu
je nutné vyckat 5 minut).

Vypnutie spotrebica
e Otocte regulacny gombik do polohy PILOT.

e Stlacte a otoéte gombik do pozicie OFF.
e Uzavrite ventil privodu plynu na plynovej bombe.

Cistenie a udrzba
e Praskom potiahnuté povrchy utrite makkou vihkou handri¢kou. Necistite zariadenie Eistiacimi
prostriedkami, ktoré su horlavé alebo korozivne.

e Qdstrante necistoty z horaka, aby ste ho udrzali Cisty a bezpecny pre pouzivanie.

Konstrukcia a vlastnosti
e Prenosny zahradny/terasovy ohrieva¢ s priestorom na plynovi bombu

e Puzdro z ocele/nerezovej ocele s praskovym nastrekom
¢ Napojenie hadice kovovou svorkou
e Produkcia tepla zo zariadenia

Specifikacie
e Pouzivajte iba plynové bomby plnené propanom, butdanom alebo ich zmesou
¢ Len pre vonkajSie pouzitie

Cistenie a tdrzba

Pravidelna udrzba by mala byt vykondvana v intervaloch kratSich ako 6 mesiacov alebo ked’
spozorujete viditelné problémy, ako napr. zIé horenie plamena alebo sfarbenie horaku. To je
znamkou zlého/blokovaného privodu plynu alebo blokovanych portov horaka.

Ak chcete vycistit porty horaka, demontujte zostavu reflektora odstranenim troch matic v hornej
Casti reflektora. Sietovinu mozno potom vybrat odstranenim Styroch skrutiek v jej zakladni

a Styroch skrutiek v jej hornej Casti. Vyberte dve skrutky pridrzujuce zostavu horéka, zostavu
horaka mierne pootocte a vyberte ju smerom nahor.

Dbajte na opatrnost, aby nedoslo k poskodeniu plynovych rir a zapalovania. Horak a sietovina
potom mézu byt o€istené stlacenym vzduchom. Celu zostavu znova skompletizujte pomocou
krokov v predoslom odseku v opaénom poradi.

Ak je PILOT zaneseny necGistotami, pavuc¢inami atd., PILOT plamern mdze byt maly a zariadenia
proti zlyhaniu plamena sa nemusia dostatoc¢ne ohriat, aby sa rozhorel hlavny horak. Pokial

k tomuto pripadu déjde, musite vycistit PILOT a jeho plynové rarky.

Ak chcete PILOT vycistit, demontujte hordk a krytku PILOT podla postupu popisaného vyssie,
skontrolujte, ¢i nie su PILOT vstrekovac a rurky upchaté. Ak su upchaté, vycistite ich stlatenym
vzduchom. Oc¢istite tiez zariadenie proti zlyhaniu plamena. Celu zostavu znovu skompletizujte,
pozrite postup vyssie v opacnom poradi.



Technicke informacie:

3+(28 3B/P( 3B/P(50) 3B/P(.
zariadenia:
. Butan, propan, | Butan, propan, Butan, propan
. 28 - 30 7
VST L 7 mba | 29 mbar
regulatora: mbar
Tabulka vstrekovaca
3+(28 ) 3B/P(: 3B/P(50) 3B/P!
zariadenia:
. Butan, propan, | Butan, propan, Butan, propan,
mbar ar

Celkovy tepelny prikon: 13 kW (butan: 945 g/h, propan: 928 g/h

1,50 mm hlavny | 1,70 mm hlavny
Velkost 1,80 mm hlavny horak horak horak
vstrekovaca: 0,18 mm pilotny horak 0,18 mm pilotny | 0,18 mm pilotny
horak horak

Znacenie napr. 1,90 na vstrekovaci znamena jeho
velkost.




RiesSenie problémov

Problém

Pravdepodobna pric¢ina

RieSenie

Pilot sa nerozsvieti

¢ Vypnuty ventil na bombe

e Plynova bomba je
prazdna

Vzduch v stipiku/hadici
Uvolnené spoje/tesnenie

Zapnite ho
Doplite/Vymente ju
Odstrarite vzduch zo stipika
Skontrolujte ich

Pilot nevydrzi zapnuty

Necistoty okolo pilota
Uvolnené spoje

Zly termoclanok

Unik plynu v stipiku
Maly tlak

Ocistite jeho okolie
Utiahnite ich

Vymente ho

Skontrolujte spoje/tesnenie

Takmer prazdna nadoba,
doplrite/vymerite ju

Horak sa nezapali

Maly tlak

Upchaty privod plynu
Zavrety ventil

Zly termoclanok

e Ohnuta zostava pilotného
svetla/plamena

Zlé prostredie

Takmer prazdna nadoba,
doplnite/vymerite ju
Vydistite ho

Otvorte ho

Vymente ho

Nastavte zostavu do spravnej
polohy
Umiestnite horak do miesta

zodpovedajuceho k spravnej
prevadzke zariadenia

Slovenska verzia navodu je presnym prekladom originalneho navodu vyrobcu.
Fotografie pouZzité v navode su len ilustraéné a nemusia sa presne zhodovat s vyrobkom.




Ko6szonjiik, hogy megvasarolta termékiinket.
Hasznadlat el6tt kérjik olvassa el a hasznalati utmutatot.

Leiras és specifikacid

o

1. Szarnyas anya 6. Egé

2. Reflektor 7. Gazpalack fedél
3. Reflektor tavtartok 8. Alap

4. Véddboritas 9. Kerekek

5. Fels6 lemez



Figyelmeztetés

1.

Ha gazszagot érez:

Kapcsolja ki a berendezés gazellatasat.

Ha tovabbra is gazszagot érez, vegye fel a kapcsolatot

a gaz forgalmazéjaval vagy a tlizoltésaggal.

Ne taroljon gyulékony anyagokat vagy nem
csatlakoztatott gazpalackokat a készilék kdzelében.

A készliléket csak szabadban vagy megfeleléen szell6zé
helyen haszndlja (a terllet legalabb 25%-a legyen nyitott).
A helytelen telepités, bedllitas, modositas, szervizelés vagy karbantartas személyi sértlést

vagy anyagi kart okozhat. A berendezés telepitése vagy javitasa el6tt gondosan olvassa el
a telepitési, kezelési és karbantartasi utasitasokat.

Ezt a készlléket 6ssze kell szerelni és a gazpalackot a hatalyos el6irasoknak megfeleléen
kell tarolni.

Ne takarja le a gazpalack fedelének a szell6z6nyilasait.

Ne mozgassa a készililéket miikodés kozben.

A készilék mozgatasa el6tt zarja le a gazpalack szelepét vagy a késziilék szabalyozdjat.
A gazcsovet az el6irt hataridén bellil ki kell cserélni.

. Csak a gyart6 altal megadott tipusu gazt és bombat hasznaljon.
. Erés szél esetén kiilonos figyelmet kell forditani a készilék dblésére.
. Ne csatlakoztassa a gazszivattyut kozvetlenil a készilékhez szabalyozd nélkil. Csak az

utasitdsokban megadott tipusu gazt és palackot hasznaljon.

Az I3B/P kategdriaba tartozé butan/propan (30) esetében hasznaljon 30 mbar szabalyozét.
13+ (28-30/37) kategéridju butanhoz hasznaljon 30 mbar szabalyozoét.

Hasznaljon 37 mbar-os szabalyozét az 13+ (28-30/37) kategoriaju propanhoz.

Az I3B/P (50) kategdriaju butan/propanhoz hasznaljon 50 mbar szabalyozét.

Biztonsagi utasitasok

1.

Ne haszndlja a készlléket zart térben. Ez személyi sérllést
vagy anyagi kart okozhat.

A késziiléket nem szabadidd jarmUvekre és/vagy hajokra Ceiling

tervezték.

A helytelen telepités, beallitas, modositas, szervizelés vagy
karbantartas személyi sérilést vagy anyagi kart okozhat.
Ne prébdlja meg semmilyen médon modositani az eszkdzt.
Ne cserélje ki a vezérlét a gyartotol eltérd tipusra.

Ne taroljon és ne hasznaljon benzint vagy mas gyulékony
anyagot a f(it6berendezésben.

A teljes gazrendszert, a témlbket, a szabalyozot és

a gyujtéégét az elsé hasznalat elétt, majd évente

egyszer ellendrizni kell gazszivargas vagy egyéb sériilés
szempontjabal.

Wall

Minden szivargasi tesztet szappanos oldattal kell
végrehajtani. Soha ne hasznaljon nyilt langot a szivargasok
ellenbrzése kézben.

Ha géazszagot érez, azonnal kapcsolja ki a gazszelepet 10001
és a henger szelepét. Ha szivargds van a tomlé/vezérlé




10.
11.
12.
13.

14

18.

19.
20.

21.
22.
23.
24.
25.

26.
27.
28.
29.

30.

csatlakozasaban: hizza meg a csatlakozast, és végezzen Ujabb szivargastesztet. Ha
tovabbra is buborékok jelennek meg, cserélje ki a tomlét. Ha szivargas van a szabdlyozé/
henger csatlakozasaban: vélassza le, csatlakoztassa Ujra és végezzen Ujabb szivargas
ellendrzést. Ha tobb kisérlet utan is buborékokat lat, a henger szelepe hibas - cserélje ki.

Ne mozgassa a készuléket mikddés kdzben.

Kikapcsolas utdn ne mozgassa a késziiléket, amig az ki nem hilt.

Tartsa a palack szell6zényilasait tormelékektél mentesen.

Ne fesse le az ég6 burkolatat, a kezel6panelt vagy a reflektor felsé fedelét.

. A fltés vezérlé/kezeld alkatrészeit, az égét és a levegd cirkulacios jaratait tisztan kell tartani.
15.
16.
17.

Rendszeresen tisztitsa a készuléket.
Kapcsolja ki a gazszivattyut, ha a készilék nem m(kodik.

Kapcsolja ki és azonnal ellendrizze a készuléket, ha a kdvetkezé helyzetek barmelyike
bekdvetkezik:

A flités nem éri el a kivant h6mérsékletet.
Az ég6 hasznalat kdzben pattogé hangot ad (enyhe zaj normalis, amikor az égé kialszik)
Erezhetd a gaz szaga az ég6 langjainak rendkiviil sarga szinével egyiitt.

A géazszivattyu- szabalyozé/tomlészerelvény nem helyezhetd el olyan helyen, ahol az
emberek ateshetnek rajta.

A készlilék minden védérészét sériilés esetén cserélni kell a tovabbi hasznalat el6tt.

Mindig legyen megfeleld tavolsagban a hésugarzotol. A késziilék hasznalatakor elért
hémérséklet miatt égési sérlilések Iéphetnek fel.

Ne engedjen gyerekeket felugyelet nélkil a készlilék kdzelébe.

Ne akasszon ruhat vagy mas gyulékony targyat a h6sugarzéra vagy annak a kdzelébe.

Ha ki akarja cserélni a gdzcsovet, ne feledje a 60 cm hosszusag kovetelményét.

Ehhez a berendezéshez csak 10 kg-os biztonsagi szeleppel ellatott gazpalackot hasznaljon
A géazpalackot megfeleléen szell6z6 kdrnyezetben cserélje ki, megfelelé tavolsagra

a gyulékony targyaktol (gyertyak, cigarettak, egyéb gyulékony targyak).

Ellendrizze, hogy a vezérl6 megfeleléen van-e rogzitve az abra szerint.

Ugyeljen arra, hogy a gézszivattyu szelléz6 nyilasai mindig nyitva legyenek.

A készilék kikapcsolasa utan mindig kapcsolja le a gazellatast a palackrol.

Gazszivargas esetén kapcsolja ki a készililéket, gondosan valassza le a gazellatast
a palackrél és miutan lehdilt, ellenérizze az eszkozt.

Ellendrizze a téml6t havonta legalabb egyszer, minden alkalommal, amikor lecseréli
a gazpalackot, és amikor a készlléket hosszu ideig nem haszndljak. Ha repedéseket,
hasadasokat vagy egyéb sérliléseket észlel a tomlében, cserélje ki egy Uj, azonos
hosszuisagu és minéségu tomldre.

Gaz kdvetelmények

Csak a forgalmazo6 altal ajanlott tipusu gazt (LPG, propan, butan) hasznaljon ezzel

a berendezéssel. A propanbomba - szabdlyozé maximalis bemeneti nyomasa nem
haladhatja meg a 100 PSI-t. A késziilék telepitésének és lizemeltetésének meg kell felelnie
a helyi el6irasoknak. llyen eldirdsok hianyaban kovesse a cseppfolydsitott gazok tarolasara
és kezelésére vonatkozé szokdasos eljdrasokat. A horpadt, rozsdas vagy megrongalédott
gazbomba veszélyes lehet, és szakembernek kell ellendriznie a biztonsagat. Soha ne
haszndljon sériilt szelepcsatlakozéval ellatott palackot. A gazszivattyut ugy kell bedllitani,
hogy a g6z6k tavozhassanak a palackbdl. Soha ne csatlakoztasson szabalyozatlan
gdzszivattyut a készillékhez.



Szivargasi teszt
Ennek az eszkdznek a gazcsatlakozasahoz a beszallitd mindig szivargasvizsgalatot hajt
végre miel6tt az arut elklldi az tgyfélnek. A berendezés telepitése utan azonban az
tgyfélnek teljes korli, megfelel§ szivargasvizsgalatot kell végeznie. Szallitas kdzben tulzott
nyomas léphet fel.

/

e Készitsen 1:2 aranyu szappan és viz oldatot. Az oldat spray-vel, ecsettel vagy ruhaval
alkalmazhaté. Gyenge tomités esetén buborékok jelennek meg.

* Az egész készliléket és gazszivattyut ellendrizni kell.
e Gy6z48djon meg arrdl, hogy a biztonsagi szabalyozé szelep OFF allasba van allitva.
e Kapcsolja be a gazellatast.

e Gazszivargas esetén kapcsolja ki a gazellatast. Hizza meg a gazszivargast, kapcsolja be
Ujra a gazt és ismételje meg a tesztet.

¢ Soha ne dohanyozzon, amikor szivargas tesztet végez.
e Ha gazszagot érez, tegyen megfelel§ biztonsagi intézkedéseket.

¢ Ne tegyen semmit, ami tlizet okozhat (ne gyujtson gyufat, ne hasznaljon 6ngyu;jtét stb.), és
ne érjen az elektromos csatlakozékhoz/kapcsoléhoz.

Hasznalat és tarolas

A késziilék bekapcsolasa:
1. Nyissa ki teljesen a csatlakoztatott gazszivattyu szelepét.
2. Nyomja meg és forditsa a vezérlégombot PILOT allasba. Ellenérizze, hogy vannak-e elemek
a gyujtds gombjaban.
3. Tartsa nyomva a vezérlégombot 90 masodpercig. Az égé meggyujtasahoz nyomja meg

tébbszor 60 masodperc utan az IGNITION gombot, amig kék fény meg nem jelenik. Amint
a fény allando és nem villog, engedje el a vezérldgombot és allitsa be a kivant h6mérsékletet.

e Ha Uj gazszivattyut csatlakoztatott, varjon legalabb egy percet, amig a csévezetékbdl a levegd
a pilot lyukon keresztil tavozik.

PILOT HEATER OPERATION 6. O:ceﬂlhe‘ b‘\ue m;t::‘ light ﬂa;‘ne sm‘{s ‘alfgh:] NOTE : If lighting for the
constantly, let go of the variable control knob.  heater for the first time or if
«l TOTURN THE HEATER ON 7. Tum the variable control knob to the changing & new gas cylinder,
Y 1.Ensure the control knob is at the OFF desired temperature position - Low to High. 16 controf knob may need fo
\9 position be held for 120 seconds at
2. Connect the gas regulator to a compatible the pilot position instead of
gas cylinder the normal 60 seconds.
3. Ensure a battery has been inserted into the
red ignition button. TO TURN THE HEATER OFF
OFF % Push and tum the control knob ani clock 1. Turn the control knob to the.
wise to the PILOT position and hold in for 60 pilot position
seconds 2. Push and turn the control
5. After 60 seconds have passed and whilst knob to OFF position
holding at the pilot position, press the ignition 3. Turn the regulator connected
button until a blue pilot light appears o he gas cylinder to the OFF
position
{ } IGNITION




e A lang meggyujtasakor tartsa lenyomva az 6ngyujté gombot és a vezériégombot.

e Az égdfedél aljan (a vezérld bal vagy jobb oldalan) elhelyezett, csuszo fedéllel ellatott kis kerek
ablak segitségével figyelemmel kisérheti és iranyithatja a jelzé langot.

e Ha a kisérleti lang nem gyullad ki vagy kialszik, ismételje meg a 3. Lépést (varjon 5 percet
mielétt megismételné a kisétletet).

A késziilék kikapcsolasa
e Forditsa a vezériégombot PILOT allasba.

¢ Nyomja meg és forgassa a gombot OFF allasba.
e Zarja el a gazszivattyu gazellatd szelepét.

Tisztitas és karbantartas
e Tordlje le a porszort fellleteket puha, nedves ruhaval. Ne tisztitsa a késziléket gyulékony
vagy maré hatasu tisztitészerekkel.

e A tiszta és biztonsagos hasznalat érdekében tavolitsa el a szennyezédéseket az égérol.

Konstrukcio és tulajdonsagok
e Hordozhato kerti/teraszflités gazpalack rekesszel

* Acél/rozsdamentes acél haz porszort bevonattal
e Tomldcsatlakozas fém szoritéval
e Hétermelés a készillékbdl

Specifikacio
¢ Csak propannal, butannal vagy ezek keverékével toltétt gazpalackokat hasznaljon.
e Csak kultéri hasznalatra.

Osszeszerelési Gtmutaté
1. Csatlakoztassa a kerekeket az alaphoz (2x M8 anya, 2x M8x16 csavar és 4x alatét).
Ellendrizze, hogy a kerekek megfelel6en vannak-e régzitve.

2. Tavolitsa el a védofoliat a reflektorrdl, és szerelje 6ssze harom részét (9x M6x8 csavar
és 9x zart anya M6). (Ha egy farabbdl allo reflektoros modellje van, folytassa egyenesen
a koévetkezd Iépéssel).

3. Helyezze az ég6re a véddburkolatot, és kézzel csavarja be a harom reflektor tavtartét.
Helyezze a reflektort a tavtartokra, és rogzitse harom szarnyas anyaval.

4. Csatlakoztassa a gazszivattyu fedelét az aljzathoz az 6sszek6td lemezekkel és harom M8x16
csavarral. Harom M6x10 csavarral lazan rogzitse az alapot a fedélhez. Csatlakoztassa
az éeg6bt a fedél tetejére a gazszivattylihoz, és gy6z6djon meg arrdl, hogy a fedél furatai
megegyeznek az ég6 aljan 1évé furatokkal. Kézzel rogzitse négy M5x10 csavarral és négy
M5 anyaval.

5. Csatlakoztassa a gazszabalyozé gumitomléjét az acél gazellaté csé végvezetékéhez és
hlzza meg az anyat. Csatlakoztassa a szabalyozét a gazszivattyuhoz az éramutaté jarasaval
ellentétes iranyba és huzza meg vizvezeték fogéval. Helyezze az alapon lévé gazpalackot
a fedélbe.

Ne taroljon lres gazpalackokat a készilék kézelében.

Valahanyszor nem haszndlja a gazpalackot, helyezzen véddéburkolatot a kilépd szelepre.
Csak a gazszivattyu szelepéhez csatlakoztassa a fedelet, amellyel megvéasarolta. Mas tipusok
gazszivargashoz vezethetnek.



Tisztitas és karbantartas

A rendszeres karbantartast 6 honapnal hosszabb id6kézonként kell elvégezni, vagy ha lathato
problémakat észlel, példaul gyenge langégést vagy az égé elszinez6dését. Ez hibas/blokkolt
gazellatas vagy az égéportok blokkolasanak a jele.

Az ég6 portjainak a tisztitasahoz tavolitsa el a reflektor egységet ugy, hogy eltavolitja a reflektor
tetején lévé harom anyat. Ezutan a halo eltavolithatd a négy csavar alulrdl és a négy csavar
eltavolitasaval a tetejérdl. Tavolitsa el az ég6 egységet tarté két csavart, kissé forditsa el az égé
egységet és huzza felfelé.

Vigyazzon, hogy ne karositsa a gazvezetékeket és a gyujtast. Az égét és a halét ezutan sdritett
levegével lehet megtisztitani. Szerelje vissza a teljes egységet az el6z6 bekezdés lépéseivel
forditott sorrendben.

Ha PILOT el van dugulva a szennyezédésektél, pokhaloktdl stb, akkor a PILOT lang kicsi lehet,
és a készullék nem biztos, hogy eléggé felmelegszik a f6égé meggyujtasahoz. Ebben az esetben
meg kell tisztitania a PILOT-ot és annak a gazvezetékeit.

A PILOT tisztitdsahoz tavolitsa el az égét és a PILOT sapkat a fent leirtak szerint, ellendrizze,
hogy a PILOT injektor és a csdvek nincsenek-e eltdmddve. Ha eltomddtek, sdritett levegbvel
tisztitsa meg Gket. Tisztitsa meg a készliléket a lang meghibasodasa ellen is. Szerelje vissza
a teljes egységet, lasd a fenti eljarast forditott sorrendben.

Szczegoty techniczne:

kategor
Butan, propan, Butan, propan,
ich mieszanka ich mieszanka

Cisnienie gazu:

Tabela wtryskiwacza

Cisnienie 30

wyjsciowe 37 mba | 29 mbar 50 mbar 37 mbar
mbar

regulatora:

Butan propan, Butan propan, Butan propan,
Cisnienie gazu: el 29 mbar 50 mbar 37 mbar
mbar mbar

Catkowita moc cieplna: 13 kW (butan: 945 g/h, propan: 928 g/h

1,50 mm palnik 1,70 mm palnik
Wymiary 1,80 mm palnik gtéwny gtéwny gtéwny
wiryskiwacza 0,18 mm palnik pilotowy 0,18 mm palnik | 0,18 mm palnik

pilotowy pilotowy

O_znac%e’me np. 1,90 na wtryskiwaczu oznacza jego C € 0063/20
wielkos¢.




Problémak megoldasa

Probléma

Lehetséges ok

Megoldas

Vezérl6pult nem vilagit

* A palack szelepe ki van
kapcsolva

e A gazpalack Ures

e Levegd az oszlopban/
témlében

e | aza kotések/tomitések

Kapcsolja be

Toltse fel/Cserélje ki
Tavolitsa el a levegét
Ellenérizze 6ket

A vezérl6pult nem
marad bekapcsolva

e Piszok a vezérl6pult koral

e Laza csatlakozas

e Rossz héregulator

e Gazszivargas az
oszlopban

e Alacsony nyomdas

Tisztitsa meg
Huzza meg 6ket
Cserélje ki

Ellenérizze a csatlakozasokat/
tomitéseket

Szinte Ures palack — toltse fel/
cserélje ki

Az ég6 nem gyullad ki

e Alacsony nyomas

e Eldugult gazellatas

e A szelep el van zarva
e Rossz héregulator

¢ Elhajlott a vezérlépult
e Rossz kérnyezet

Szinte Ures palack — toltse fel/
cserélje ki

Tisztitsa ki
Nyissa ki
Cserélje ki

Helyezze vissza a megfelelé
helyre

Helyezze a hésugarzét
olyan helyre, amely alkalmas
a készilék megfelel
mikddésére

A magyar hasznalati utasitas a gyartotol kapott verzié pontos forditasa.

A kézikdnyvben hasznalt fényképek csak illusztracidk, nem egyeznek meg pontosan a termékkel.




Dziekujemy za zakup naszego produktu.
Przed uzyciem prosimy starannie przeczytac te instrukcje.

Opis a specyfikacja

o

'
e ]
(5

1. Nakretka motylkowa 6. Palnik
2. Reflektor 7. Ostona butli z gazem
3. Rozpdrki reflektora 8. Podstawa
4. Ostona ochronna 9. Kotka
5. Ptyta gérna



Ostrzezenie

1.

10.
11.
12.

Instrukcje bezpieczenstwa

1.

Jesli czujesz ulatniajacy sie gaz:
Odtacz doptyw gazu do urzadzenia.

Jesli nadal czujesz gaz, skontaktuj sie z dystrybutorem
gazu lub strazg pozarna.

Nie wolno przechowywac w poblizu urzadzenia
zadnych materiatéw zapalnych ani tez niepodtaczonej
butli z gazem.

Urzadzenie uzywac wytacznie pod gotym niebem lub w dostatecznie wentylowanym
pomieszczeniu (tj. co najmniej 25% otwartej przestrzeni).

Niewtasciwa instalacja, regulacja, modyfikacja, serwis lub konserwacja moze by¢ przyczyna
urazéw lub spowodowac uszkodzenie mienia. Przeczyta¢ doktadnie instrukcje instalacji,
eksploataciji i konserwacji przed instalacja lub naprawa niniejszego urzadzenia.

Niniejsze urzadzenie musi zostac zainstalowane, natomiast butla z gazem zmagazynowana
zgodnie z obowigzujgcymi przepisami.

Nie zastania¢ otworéw wentylacyjnych pokrywy butli.
Nie przesuwacé urzadzenia w trakcie jego dziatania.

Przed rozpoczeciem przesuwania urzadzenia zamknij zawér znajdujacy sie na butli gazowe;j
lub odtacz regulator gazu.

Waz gazowy musi zosta¢ wymieniony w trakcie przepisowego okresu.
Uzywac jedynie jednego typu gazu oraz typu butli okreslonych przez producenta.
W przypadku silnego wiatru nalezy zwréci¢ szczegdlng uwage na przechylenie urzadzenia.

Nie podtaczaé butli gazowej bezposrednio do urzadzenia bez regulatora. Uzywac jedynie
typu gazu oraz butli podany w zaleceniach.

Dla propanu/butanu w kategorii I3B/P (30) uzyj regulatora 30 mbar.

Dla butanu uzyj regulatora 30mbar kategorii 13 + (28-30/37).

Uzyj regulatora 37 mbar dla propan-butanu kategorii I3 + (28-30/37).

Dla kategorii butan/propan w kategorii I3B/P (50) uzyj regulatora 50 mbar.

Nie uzywaj urzadzenia w pomieszczeniach. Mogtoby to Ceiling

spowodowac urazy lub uszkodzenie Twojego mienia.

Urzadzenie nie jest przeznaczone do instalacji na
pojazdach rekreacyjnych i/lub todziach.

Niewtasciwa instalacja, regulacja, modyfikacja, serwis lub
konserwacja moze by¢ przyczyna urazéw lub spowodowaé
uszkodzenie mienia.

Nie wolno w zaden sposoéb prébowaé modyfikowaé tego
urzadzenia.

Nie zastepowac regulatora innym typem anizeli zalecanym
przez producenta.

W ogrzewaczu nie przechowuj i nie uzywaj benzyny ani
innych tatwopalnych par lub cieczy.

Wall

Caty system gazowy, weze, regulator i palnik zaptonowy
nalezy sprawdzi¢ przed pierwszym uzyciem, a nastepnie
kontrolowac raz w roku pod katem ulatniania sie gazu lub 10000
uszkodzenia.




10.
11.
12.
13.

14.

15.
16.
17.

18.

19.

20.

21

26.
27.
28.
20.

30.

Wszystkie préby szczelnosci nalezy wykonywacé przy uzyciu roztworu mydta. Do kontroli
szczelnosci nigdy nie wolno uzywac otwartego ognia.

Jesli czujesz ulatniajacy sie gaz, natychmiast wytacz zawor gazu i zawor butli. Jesli jest
nieszczelny waz/przytacze regulatora: dokre¢ przytacze i wykonaj kolejng probe szczelnosci.
Jesli pecherzyki nadal sie pojawiajg, wymien waz. Jesli jest nieszczelne przytacze regulatora/
butli gazowej: odtacz je, podtacz ponownie i wykonaj nastepng kontrole szczelnosci. Jesli
nadal widzisz pecherzyki nawet po kilku prébach, zawor butli jest wadliwy — wymien go.

Nie przesuwaj urzadzenia w trakcie jego dziatania.
Po wytaczeniu urzadzenia nie wolno nim przesuwaé zanim sie nie ochtodzi.
Otwory wentylacyjne butli utrzymywac drozne i bez zabrudzen.

Nie wolno malowa¢ farba ostony palnika, panelu sterowania ani tez ostony zewnetrznej
reflektora.

Elementy sterowania/kontroli, palnik i kanaty cyrkulacji powietrza nagrzewnicy musza byc¢
utrzymywane w czystosci.

Regularnie czy$¢ urzadzenie.

Wytacz zawér butli gazowej, o ile urzadzenie nie pracuije.

Natychmiast wytgcz i skontroluj urzadzenie w razie, gdy wystapi jedna z nastepujacych
sytuaciji:

Ogrzewacz nie osigga wymaganej temperatury.

W trakcie eksploatacji palnik wydaje trzaskajacy dzwiek (gdy palnik gasnie rzecza normalna
jest lekki huk).

Czujesz gaz w zwiazku z nadmiernie z6ttym zabarwieniem palnika.

Komplet regulatora/weza butli gazowej nie moze znajdowac sie w miejscu, w ktérym ktos
mogtby sie o nig potknac.

Jakakolwiek czes$¢ zabezpieczajgca musi zosta¢ wymieniona po jej wyjeciu przed dalszym
uzyciem.

Zawsze zachowaj odpowiedni odstep od ogrzewacza. Ze wzgledu na temperatury, ktére
urzadzenie osigga brak odstepu mogtby spowodowaé poparzenia.

. Nie pozostawiaj dzieci bez nadzoru w poblizu urzadzenia.
22.
283.
24,
25.

Nie wieszaj odziezy ani zapalnych rzeczy na lub w poblizu ogrzewacza.
Jesli chcesz wymieni¢ waz doptywu gazu, pamietaj, aby jej dtugos¢ wynosita 60 cm.
Dla tego urzadzenia uzywac jedynie 10kg butle gazowa z zaworem bezpieczenstwa.

Butle z gazem wymieniaj w odpowiednio wentylowanym srodowisku oraz w dostatecznej
odlegtosci od tatwopalnych przedmiotow (Swieczki, papierosy inne tatwopalne przedmioty).

Skontroluj, czy regulator zostat nalezycie zabezpieczony tak, jak na rysunku.
Pamietaj, aby otwory wentylacyjne butli gazowej byty zawsze otwarte.
Po wytaczeniu urzadzenia zawsze zamknij doprowadzenie gazu z butli.

W przypadku ulatniania sie gazu wytaczy¢ urzadzenie, ostroznie odtaczy¢ doprowadzenie
gazu z butli i po ostygnieciu skontroluj urzadzenie.

Kontroluj waz co najmniej raz w miesigcu, przy kazdej wymianie butli oraz jesli urzadzenie
nie byto od dawna eksploatowane. Jesli widzisz oznaki peknie¢ lub innego rodzaju
uszkodzenie weza, wymien go za nowy waz tej samej dtugosci i jakosci.

Wymagania dotyczgce gazu
Wraz z tym urzadzeniem uzywac wytacznie gaz zalecany przez producenta (LPG, propan, butan).

Maksymalne cisnienie regulatora butli propanowej nie moze przekroczy¢ 100 PSI.



Instalacja oraz eksploatacja musza odpowiada¢ miejscowym przepisom. W razie braku takich
przepiséw przestrzegac standardowych procedur w przypadku przechowywania i manipulowania
skroplonymi gazami ropopochodnymi.

Obttuczona, zardzewiata lub uszkodzona butla gazowa moze byc¢ niebezpieczna i powinna
zosta¢ skontrolowana w celu bezpiecznego zastosowania przez specjaliste. Nigdy nie uzywac
butli wraz z uszkodzonym przytaczem zaworu.

Butla gazowa powinna zosta¢ ustawiona w taki sposéb, aby umozliwiata odprowadzanie oparéw.
Do urzadzenia nigdy nie podtaczac butli gazowej bez regulaciji.

Préba szczelno$ci

W trakcie podtgczania tego urzadzenia dostawca przed wysytkg towaru do klienta wykonuje
probe szczelnosci. Niemniej po zainstalowaniu urzadzenia przez klienta nalezy przeprowadzic¢
kompletna i prawidtowa probe szczelnosci. W trakcie transportu moze nastapi¢ zwolnienia
cisnienia lub nadmierne cisnienie.

/

® Przygotuj roztwoér wody z mydtem w stosunku 1:2. Roztwér mozna zaaplikowac przy uzyciu
rozpraszacza, pedzla lub szmatki. W razie nieszczelnosci pojawia sie pecherzyki.

¢ Urzadzenie nalezy kontrolowa¢ wraz z petng butla gazowa.

e Upewnij sie, ze zabezpieczajacy zawor regulacyjny znajduje sie w potozeniu OFF.

* Witgcz doprowadzenia gazu.

e W przypadku ulatniania si¢ gazu wytacz doprowadzenie gazu. Dokre¢ uszczelke, przez ktéra
gaz ulatniat sie, wtacz ponownie doprowadzenie gazu i powtérz test.

¢ Podczas wykonywania préby nie wolno pali¢.

¢ Jesli czujesz ulatniajacy sie gaz, musisz podja¢ odpowiednie kroki bezpieczenstwa przy
zachowaniu wigkszej ostroznosci.

¢ Nie wolno robi¢ nic, co mogtoby spowodowaé wzniecenie ognia (nie zapala¢ zapatek, nie
pociera¢ zapalniczka, itd.) i nie dotykaé gniazdek/wtacznikéw elektrycznych.

Sposoéb uzywania i przechowywania

Wiaczanie urzadzenia:
1. Otworz catkowicie zawor znajdujacy sie na podtaczonej butli gazowej.

2. Nacisnij i obré¢ pokretto regulacyjne w potozenie PILOT. Upewnij sie, ze w pokretle zapalania
znajduja sie baterie.

3. Nacisnij i przytrzymaj pokretto regulujace przez okres 90 sekund. Aby zapali¢ palnik nalezy
nacisnac kilkakrotnie przycisk zapalania (IGNITION) przez 60 sekund dopodki nie pojawi sie
niebieskie swiatto. Jak tylko jego $wiatto ustabilizuje sie i przestanie falowac, zwolnij pokretto
regulacyjne i ustaw zgdanag temperature.

e Jesli podtaczytes butle gazowa, odczekaj co najmniej minute zanim powietrze z przewodu
gazowego ulotni sie przez otwor prébny.



PILOT HEATER OPERATION 6. Ozceﬂlhe‘ b‘\ue m;t::‘ light ﬂa;‘ne S‘z‘(s ‘alfgh:] NOTE : I lighting for the
constantly, let go of the variable control knob.  heater for the first time or if
«l TOTURN THE HEATER ON 7. Tum the variable control knob to the changing & new gas cylinder,
@ 1.Ensure the control knob is at the OFF desired temperature position - Low to High the control knob may need to
\/O position be held for 120 seconds at
2. Connect the gas regulator to a compatible the pilot position instead of
gas cylinder the normal 60 seconds.
3. Ensure a battery has been inserted into the
red ignition button. TO TURN THE HEATER OFF
OFF 4 Push and tum the control knob anti clock 1. Turn the control knob to the
wise to the PILOT position and hold in for 60 pilot position
. seconds 2. Push and turn the control
5. After 60 seconds have passed and whilst knob to OFF position
holding at the pilot position, press the ignition 3. Turn the regulator connected
button until a blue pilot light appears o the gas cylinder to the OFF
position
{ l IGNITION
* Podczas zapalania ptomienia upewnij sie, ze trzymasz nacisniety przycisk zapalnika jak

i pokretto regulujace.

e Ptomien pilotowy mozna obserwowac i kontrolowac przez mate okragte okienko z przesuwana
pokrywa znajdujaca sie w dolnej czesci ostony palnika (z lewej lub prawej strony sterownika)
e Jesli ptomien pilotowy nie zapali sie lub zgasnie, powtérz krok nr 3 (przed powtdrzeniem
proby nalezy koniecznie odczekac 5 minut).

Wytaczanie urzadzenia

e Odkre¢ pokretto regulujace w potozenie PILOT.
e Nacisnij i obré¢ pokretto w potozenie OFF.

e Zamknij zaw6r doprowadzajacy do butli gazowe;j.

Sposdb czyszczenia i konserwacji
e Powierzchnie proszkowane wytrzyj miekka i wilgotna szmatka. Nie czy$¢ urzadzenia Srodkami
czystosci, ktére sa tatwopalne lub powoduja korozje.

e Usun zabrudzenia z palnika, aby byt czysty i bezpieczny przed uzyciem.

Konstrukcja i wtasciwosci
* Przenosny ogrodowy/tarasowy ogrzewacz z miejscem na butle z gazem

e Obudowa ze stali/stali nierdzewnej wykonczonej farba proszkowa
e Podtaczenie weza przy pomocy metalowego zacisku
e Produkcja ciepta z urzadzenia

Specyfikacja
e Uzywaj jedynie butli z gazem napetnionych propanem, butanem lub ich mieszanka
e Tylko do uzytku na wolnym powietrzu.



Sposéb czyszczenia i konserwacji

Regularng konserwacje nalezy wykonywac w odstepach krétszych anizeli 6 miesiecy lub tez gdy
zauwazysz widoczne problemy, jak na przyktad Zle palacy sie ptomien lub zmiana zabarwienia
palnika. Jest to oznaka ztego/zablokowanego doptywu gazu lub blokady portéw palnika.

Jesli chcesz wyczyscic porty palnika, zdemontuj komplet reflektora usuwajac trzy nakretki w
gornej czesci reflektora. Sitko mozna nastepnie wyja¢ wyjmujac cztery sruby w jego podstawie

i cztery Sruby w jego gornej czesci. Wykre¢ dwie sruby przytrzymujace zestaw palnika, lekko
obroc zestaw palnika i wyjmij go w kierunku do gory.

Zachowaj ostroznos¢, aby nie uszkodzi¢ rurek gazu oraz zapalnika. Nastepnie mozna wyczyscié
palnik i sitko przy uzyciu sprezonego powietrza. Caty zestaw ztéz ponownie przy pomocy krokéw
opisanych w poprzednim rozdziale w odwrotnej kolejnosci.

Jezeli w PILOCIE nagromadzit sie brud, pajeczyny itd., ptomiert PILOTA moze by¢ maly, z kolei
urzadzenie zapobiegajace awarii ptomienia nie musi nagrzewac sie w dostatecznym stopniu, aby
zapalit sie palnik gtéwny. Jesli to nastapi nalezy wyczys$¢ PILOT i jego przewody gazowe.

Jezeli chcesz wyczysci¢ PILOT, zdemontuj palnik i ostone PILOT zgodnie z procedura opisang
powyzej, skontroluj, czy nie sg zatkane wtryskiwacz PILOT i rurki. Jesli sa zatkane, wyczy$é
sprezonym powietrzem. Wyczys$¢ rowniez urzadzenie zapobiegajace awarii ptomienia. Caty
zestaw zmontuj ponownie, zob. powyzsza procedura w odwrotnej kolejnosci.

Szczegoty techniczne:

Butan, propan, | Butan, propan, Butan, propan,
ich mieszanka | ich mieszanka ich mieszanka

Ciénienie gazu: | 28730 |37 29 mbar 50 mbar 37 mbar
mbar mbar

Cisnienie

wyjsciowe 37 mba | 29 mbar 50 mbar 37 mbar

regulatora:

Tabela wtryskiwacza

Typ gazu:

LT 3+(28 3B/P(30)
urzadzenia:
. Butan, propan
Typ gazu: Butan Propan ich mieszanka | i
Ciénienie gazu: | 23730 29 mbar 50 mbar 37 mbar
mbar mbar

| Catkowita moc cieplna: | 13 kW (butan: 945 g/h, propan: 928 g/h

1,50 mm palnik 1,70 mm palnik
Wymiary 1,80 mm palnik gtéwny gtéwny gtéwny
wtryskiwacza 0,18 mm palnik pilotowy 0,18 mm palnik | 0,18 mm palnik

pilotowy pilotowy

Oznaczenie np. 1,90 na wtryskiwaczu oznacza jego
wielkos¢.




Sposoéb rozwigzywania problemoéw

Problem

Prawdopodobna przyczyna

Sposob rozwigzania

Pilot nie zaswieci sig¢

¢ Wylgczony zawor na butli
e Butla z gazem jest pusta
* Powietrze w kolumnie/wezu

e Poluzowane przytacze/
uszczelki

Wiacz go

Uzupetnij ja/wymien ja
Usun powietrze z kolumny
Skontroluj

Pilot wytacza sie

e Zabrudzenia wokot pilota
e Poluzowane ztacza
e Ziy termoelement

e Ulatniajgcy sie gaz w
kolumnie

¢ Niskie cisnienie

Wyczys¢ jego otoczenie
Dokrec¢ je

Wymien go

Sprawdz ztgcza/uszczelki

Prawie pusty zbiornik,
uzupetnij go/wymien go

Palnik nie zapala sie

¢ Niskie cisnienie

e Zatkany doptyw gazu
e Zamknij zawor

e Zty termoelement

e Wygiety komplet sSwiatta/
ptomienia prébnego
e Zte otoczenie

Prawie pusty zbiornik,
uzupetnij go/wymien go
Wyczysé go

Otworz go

Wymien go

Ustaw komplet w poprawnym
potozeniu

Umies¢ palnik w miejscu
odpowiednim do poprawnej
eksploataciji urzadzenia

Polska wersja jezykowa instrukcji jest doktadnym ttumaczeniem oryginalnej instrukcji producenta.
Zdjecia wykorzystane w tym podreczniku sa jedynie ilustracjg i moga nie odwzorowywac doktadnie produktu.




Installation
Montage

Montaz
Osszeszerelés
Montaz

K




Parts list \ Teileliste \ Seznam dill \ Zoznam dielov \ Alkatrész lista \ Wykaz czesci

=]
7]
~=
=
D
=7
o
=]




Wing nut

Burner assembly

Fligelmutter Brenner

Kfidlova matice Horak

Kridlova matica Horak

Reflektor Gazpalack fedél
Nakretka motylkowa Palnik

Reflector Gas cylinder cover
Reflektor Abdeckung der Gasflasche
Reflektor Kryt plynové bomby
Reflektor Kryt plynovej bomby
Reflektor tavtartok Alap

Reflektor Ostona butli z gazem
Reflector spacer Base
Reflektorabstandhalter Basis

Rozpérky reflektoru Zakladna

Rozperky reflektora Zakladna
Védéboritas Kerekek

Rozpdrki reflektora Podstawa

Protective cover

Schutzabdeckung

Wheel assembly

Ochranny kryt

Rollen

Ochranny kryt

Kolecka

Felsé lemez

Kolieska

Ostona ochronna

Kerekek

Kotka

Top plate

Oberteil

Vrchni plat

Vrchny plat

Egé

Ptyta gérna

c
o
=
L
©
i
(2]
=




Hard Wares List \ Liste Montagematerial \ Seznam spojovaciho materialu \ Zoznam
spojovacieho materidlu \ Csatlakozok és kotéelemek listdja \ Wykaz elementow
taczeniowych i materiatu tgcznikowego:

M8 nut - Mutter M8 - Matice M8 - Matica M8 -

A 10| 2

- Anya M8 - Nakretka M8

BB Bolt M8x16 - Schraube M8x16 - Sroub M8x16 - Skrutka M8x16 -
5x
- Csavar M8x16 - sruba M8x16 g
Cap nut M6 - Hutmutter M6 - Uzaviena matice M6 -
CC 9x
- Uzavreta matica M6 - Zart anya M6 - zamknigta nakretka M6 @
Bolt M6x8 - Schraube M6x8 - Sroub M6x8 - Skrutka M6x8 -
DD g 9x
- M6x8 csavar - $ruba M6x8
Connection part - Flachverbinder - Spojovaci plisky -
EE 3x
- Spojovacie pliesky - 6sszekotd lemez - blaszki faczace
. Reflector spacer - Reflektorabstandhalter - Rozpérka reflektoru -
3x
- Rozperka reflektora - Reflektor tavtarto - rozporka reflektora
Washer 8mm - Unterlegscheibe 8mm - Podlozka 8mm -
HH | #
- PodloZzka 8mm - Alatét 8mm - podkfadka 8mm
Wing nut - Fligelmutter - Kfidlova matice - Kridlova matica -
Il Q> 3x
- Szarnyas anya - nakretka motylkowa
Bolt M5x20 - Schraube M5x20 - Sroub M5x20 - Skrutka M5x20 -
JJ g 4x

- Csavar M5x20 - sruba M5x20

Nut M5 - Mutter M5 - Matice M5 - Matica M5 - Anya M5 -
KK m=. 4x
- nakretka M5

Wrench - Schraubenschlissel - Otevreny kli¢ - Otvoreny klU¢ -
LL =2 1x

- Nyité kulcs - klucz otwarty

Wheel assembly - Radsatz - Sestava kole¢ek - Zostava koliesok -
MM (@ 1x
- Kerék készlet - komplet kotek

Bolt M6x10 - Schraube M6x10 - Sroub M6x10 - Skrutka M6x10 -
NN iﬁ] 3x
- Csavar M6x10 - $sruba M6x10




Montageanleitung - Montazni navod - Montazny navod - Osszeszerelési utmutaté

nut, 2x M8x16 bolt and 4x washer). Make

1. Attach wheel assembly to the base. (2x M8
sure the wheels are attached firmly.

c
o
=
L
©
i
(2]
=

1. Befestigen Sie die Rollen an dem Gehéause
(2x Muttern M8, 2x Schraube M8x16 und 4x
Unterlegscheibe). Stellen Sie sicher, dass die
Rollen sicher befestigt sind.

1. Pripevnéte kole¢ka k zakladné (2x M8
matice, 2x M8x16 Sroub a 4x podlozka).
Ujistéte se, Ze jsou kolecka pfipevnéna
radné.

1. Pripevnite kolieska k zékladni (2x M8 matica,
2x M8x16 skrutka a 4x podlozka). Uistite sa,
Ze su kolieska pripevnené riadne.

1. Csatlakoztassa a kerekeket az alaphoz (2x
M8 anya, 2x M8x16 csavar és 4x alatét).
Ellendrizze, hogy a kerekek megfeleléen

vannak-e rogzitve.
: i <

1. Przymocuj kotka do podstawy (@2x M8
nakretka, 2x M8x16 sruba i 4x podktadka).

Upewnij sie, ze koétka zostaty nalezycie
przymocowane. @ X4

2. Remove the protective film from the reflector @ @ X9

and fasten the reflector pieces together (9x
M6x8 bolt and 9x cap nut M6). (If you have

one piece reflector, skip to the next step.) @ @W X9




Entfernen Sie die Schutzfolie vom Reflektor
und bauen Sie die drei Teile zusammen

(9x Schraube M6x8 und 9x Hutmutter

M®6). (Wenn Sie ein Modell mit einteiligem
Reflektor haben, fahren Sie direkt mit dem
néchsten Schritt fort.)

Z reflektoru sundejte ochrannou folii

a smontuijte jeho tfi ¢asti dohromady (9x
M6x8 Sroub a 9x uzaviena matice M6).
(Pokud mate jedno-dilovy model reflektoru,
pokracujte rovnou k dalSimu kroku).

Z reflektora zlozte ochrannu féliu a zmontujte
jeho tri ¢asti dokopy (9x M6x8 skrutka a 9x
uzavretd matica M6). (Ak mate jednodielny
model reflektora, pokracujte rovno

k dalSiemu kroku).

Tavolitsa el a védoéfoliat a reflektorrdl, és szerelje 6ssze harom részét (9x M6x8 csavar
és 9x zart anya M6). (Ha egy farabbdl allo reflektoros modellje van, folytassa egyenesen
a kovetkezb lépéssel).

Zdejmij z reflektora folie ochronna i zmontuj jego trzy czesci (9x Srube M6x8 oraz 9x zamknigta
nakretke M6). (Jesli posiadasz jednoczesciowy model reflektora, przejdz bezposrednio do
kolejnego kroku).

Insert the protective cover on the burner and
insert 3 reflector spacer by hand and tighten.
Put the reflector on top of the 3 spacers and
tighten it with 3 wing nuts.

Setzen Sie die Schutzabdeckung auf

den Brenner und schrauben Sie die drei
Abstandhalter des Reflektors von Hand

ein. Setzen Sie den Reflektor auf die
Abstandhalter und befestigen Sie ihn mit drei
Fligelmuttern.

Nasadte na hofak ochranny kryt a ru¢né
zaSroubuijte tfi rozpérky reflektoru. Na
rozpérky nasadte reflektor a upevnéte jej
pomoci tfi kfidlovych matic.

Nasadte na hordk ochranny kryt a ruéne
zaskrutkuijte tri rozperky reflektora. Na
rozperky nasadte reflektor a upevnite ho
pomocou troch kridlovych matic.




Helyezze az égbre a véddburkolatot, és @ l‘[ﬁ\\“‘.‘m\|=lwwm X3

kézzel csavarja be a harom reflektor tavtartot.
Helyezze a reflektort a tavtartokra, és

régzitse harom szarnyas anyaval. m Q}:{Q x3

Zatéz na palnik ostone ochronna i recznie przykrecic¢ trzy rozpérki reflektora. Na rozpdrki
zatozy¢ panel reflektor i przymocuj go przy uzyciu nakretek motylkowych.

Attach cylinder housing to the base using 3 connection
parts and 3 M8x16 bolts. Assembly the burner unit and
attach the housing lid onto the top of tank housing.
Make sure the holes on the lid are corresponding to
the holes. Insert 4 M5x10 bolts to the holes and hand
tighten twith 4 flange nuts. Make sure the lid assembly
is parallel to the base and fully tightened.

Befestigen Sie die Abdeckung der Gasflasche mit den
Flachverbindern und drei Schrauben M8x16 an dem
Gehause. Befestigen Sie das Gehause locker mit drei
Schrauben M6x10 an der Abdeckung. Befestigen Sie
den Brenner oben an der Abdeckung der Gasflasche
und stellen Sie sicher, dass die Locher in der
Abdeckung den Ldchern in der Unterseite des Brenners
entsprechen. Mit vier M5x10 Schrauben und vier M5
Muttern manuell befestigen.

Pomoci spojovacich pliSkd a tfi M8x16 Sroubl upevnéte
kryt na plynovou bombu k zékladné. Volné ke krytu
pripevnéte zakladnu pomoci tfi M6x10 Sroubl. Napojte
horék na vrch krytu na plynovou bombu a ujistéte se,

ze diry v krytu koresponduji s dirami ve spodni ¢asti
hotaku. Ruéné pfipevnéte pomoci ¢ty M5x10 Sroubd

a Gtyf M5 matic.

Pomocou spojovacich plieskov a troch
M8x16 skrutiek upevnite kryt na plynovu
bombu k zakladni. Volne ku krytu pripevnite
zékladrfiu pomocou troch M6x10 skrutiek.
Napojte horak na vrch krytu na plynovu
bombu a uistite sa, Ze diery v kryte

koreSponduju s dierami v spodnej Casti @WMM x3 m @W]m x4
horéaka. Ru¢ne pripevnite pomocou Styroch

M5x10 skrutiek a $tyroch M5 matic. <~z @ oo x4

E x3
Csatlakoztassa a gazszivattyy fedelét @ @IMMM 3
az aljzathoz az 6sszekotd lemezekkel és

harom M8x16 csavarral. Hirom M6x10

csavarral lazan rogzitse az alapot a fedélhez.



Csatlakoztassa az éegét a fedél tetejére a gazszivattyuhoz, és gy6z&djon meg arrol, hogy
a fedél furatai megegyeznek az égé aljan lévé furatokkal. Kézzel régzitse négy M5x10
csavarral és négy M5 anyaval.

Przy pomocy blaszek tgczacych oraz trzech srub M8x16 zamocuj ostone na butli gazowe;j
do podstawy. Luzno do ostony przymocuj podstawe za pomoca trzech s$rub M6x10.
Podtacz palnik do gornej czesci ostony do butli gazowej i upewnij sie, czy otwory w ostonie
odpowiadajg otworom w dolnej czesci palnika. Przymocuj recznie przy uzyciu M5x10 srub
i czterech nakretek M5.

Attach the gas regulator rubber hose to the end thread
o filet gas steel pipe and tighten the nut. Connect

the regulator with the gas tank in counter-clockwise
direction and tighten is with adjustable wrench. Put the
gas tank into the stand.

Do not store empty gas bombs near the device.

Whenever you are not using the bomb, attach

a protective cover to the outlet valve. Only attach the
cover with which you purchased it to the gas pump
valve. Other types may lead to gas leakage.

Verbinden Sie den Gummischlauch des Reglers mit
dem Endgewinde der Gasleitung und ziehen Sie die
Mutter fest. SchlieBen Sie den Regler gegen den
Uhrzeigersinn an die Gasflasche an und ziehen Sie ihn
mit einer Zange fest. Stellen Sie die Gasfasche in das
Gehdause.

Lagern Sie keine leeren Gasflaschen in der Nahe des
Gerats.

Wenn Sie die Gasflasche nicht benutzen, bringen
Sie eine Schutzabdeckung am Auslassventil an.
Verwenden Sie auf das Gasflaschenventil nur die
Abdeckung, mit welcher Sie die Gasflasche gekauft
haben. Andere Arten kdnnen zu Gasleckagen flihren.

Napojte gumovou hadici regulatoru plynu na koncovy
zavit ocelové trubky pfivodu plynu a utahnéte matici.
Pripojte regulator na plynovou bombu proti sméru hodinovych ruc¢i¢ek a utdhnéte pomoci
instalatérskych klesti. Vlozte plynovou bombu na zékladnu do jejiho krytu.

V blizkosti zafizeni neskladujte prazdné plynové bomby.

Kdykoliv bombu nepouzivate, nasadte na vystupni ventil ochranny kryt. Na ventil plynové
bomby nasazujte pouze ten kryt, se kterym jste ji pofidili. Jiné typy mohou vést k tniku
plynu.



5. Napojte gumovu hadicu regulatora plynu na koncovy zavit ocelovej rurky privodu plynu
a utiahnite maticu. Pripojte regulator na plynovid bombu proti smeru hodinovych ruciciek
a utiahnite pomocou indtalatérskych kliesti. Vlozte plynovi bombu na zakladnu do jej krytu.
¢ V blizkosti zariadenia neskladujte prazdne plynové bomby.
e Kedykolvek bombu nepouzivate, nasadte na vystupny ventil ochranny kryt. Na ventil
plynovej bomby nasadzuijte len ten kryt, s ktorym ste ju zhotovili. Iné typy méZu viest k tniku
plynu.

c
o
=
L
©
i
(2]
=

5. Csatlakoztassa a gazszabalyozé gumitdmlbjét az acél gazellatd csé végvezetékéhez és
hizza meg az anyat. Csatlakoztassa a szabalyozét a gazszivattylihoz az éramutaté jarasaval
ellentétes iranyba és huizza meg vizvezeték fogéval. Helyezze az alapon lévé gazpalackot
a fedélbe.

¢ Ne taroljon Ures gazpalackokat a készlilék kdzelében.

e Valahanyszor nem hasznalja a gazpalackot, helyezzen védéburkolatot a kilépé szelepre.
Csak a gazszivattyu szelepéhez csatlakoztassa a fedelet, amellyel megvasarolta. Mas
tipusok gazszivargashoz vezethetnek.

5. Podtacz waz gumowy regulatora gazu do koricowego gwintu stalowej rurki doptywu gazu
i dokre¢ nakretke. Podtacz regulator do butli gazowej w kierunku przeciwnym do kierunku
wskazéwek zegara i dokreé przy uzyciu kleszczy hydraulicznych. Wi6z butle gazowa na
podstawe do jej ostony.

e W poblizu urzadzenia nie przechowuj zadnych pustych butli z gazem.

e Jedli butla nie jest uzywana, na zaw6r wylotowy nalezy zatozy¢ ostone zabezpieczajaca. Na
zawor butli z gazem zaktadac jedynie te ostone, z ktdra zostata zakupiona. Inne typy moga
prowadzi¢ do ulatniania sie gazu.




Installation










